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code, code, code, code
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LUURAARARU 9

=i & o z
LB WA IR NNLERAY 1Y comment

script.py |IPyvthon Shell L)
1 # Fuduassann input wnuluéiuals h In [1]:
2 # Fudnnuaseann input huluduls w
3 # h faAnugsnasauiiany
4 # w ABATINENIFIUNRGAURALY
L # uaadiuiuasa e
6 #
T

Submit @
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LUURAARARU 9

= & o 2
LHEUANTEIEINLERS 11 comment

script.py |Python Shell
1 # Fudmwauaseann input huludiwls h Traceback (most recent call last):
2 # Fudrwnvadeann input huluduls w File "script.py”, line 8, in <module>
3 # h AaRnugdnadEuLaau v = intlinoutf}]
4 # w AaANMUENFIUTAGETUIWALY C T (f i E] | o
t  # wdesnutuasa s Ses ValueError: invalid literal for int() with base
6 # 18: "29.4°
7 h = int{input())
8 w=1int{input()) In [1]:
9 a = h*w/ 2
18  print(a)

h A aatdudiurnass

Submit
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LUURAARARU 9

=i 4 = -
LB UEAEIEULERI 11 comment

script.py

¥ Audiuuaseann input wnuludiwils h
# Fud1uIuaseann input nuludivils w
# h AaAugsnadauLian

# w ALANENIFIUTaIE TNIHANY

# udrAsiuTiyasaawies
£
h

[
ﬂ

float(input())
Tloati{input())
a = h*w/2

print{a)

0 GO =] @3n N e L D
=
[

==
i

(Great world!

Submit
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|Python Shell

Traceback (most recent call last):
File "script.py”, line 8, in <module:
w = int(input())
ValueError: invalid literal for int{) with base
la@: "29.4°

{script.py> output:
323.4
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g1115u 2110101: umlaneilauvnaiuadauninlussuu Grader

A MAIN  Submissions ~ @ 9 & aumns slszinaaeszng

01 _Expr 01 01 _Expr * Sfirling_Factorial 4 Graded at 02/06/19 21:26:29
[desc] score: 100 [ PPPPP ]
View: B 5 msg
SUDMISSIONS CASE
01 _Expr 02 01_Expr_+_ Quadratic_Root 1 Graded at 04/06/19 21:25:14
[desc] score: 100 [ PPPPP ]
\J{2'' compiler msg | |
SUDMISSIONS Ca5e
01 _Expr_03 01 _Expr_ & An_Expression 11 Graded at 09/07/19 12:31:27 Edit
[desc] score: 0 [ X ]
CO er ||-:~:|
submissions | testcases |
01 Expr 04 01 Expr_*+ Body Surface Area 0
[desc]
01 _Expr_06 01_Expr_ -+ Duration 0
[desc]
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Download Software

www.python.org
www.thonny.org
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Basic /0, Data Types, Variables,
Operators, Expressions, Statements
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TAd&NILUTUATULLAZA N AULNNITVINIU

- import matplotlib.pyplot as plt
ouriagAsy | import math

y.append(O.1*k*math.sin(x[k])ﬁ

o o e e e e - - - —

AINUURIRY
n = int(input()) # data points
1ol ilf n <_1°= ﬁ comment}
uuuLtianiin | n =10
- ox =11
y=1.
. _ | ifor k in range(n):
1”2ﬂ“a°ﬂ - x.append (k*16*math.pi/n)
vinonutdureu
v i

siavtauAd9 Liat Tlunufendududrgoaulungu
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Basic Data Types: String and Number

e String
— "Hello" '"Hello'

— "Hello Python" 'Hello Python'
_ n12345" '12345"'

mww (I |

e Number

- Integer
- 1234, 0

— floating point
e -1234.0, 1.5E-15 € 1.5 x 10715
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Operator: plus

e AAAINULINAU ARADAINUGNDAU

"Hello" + " " + "1" g "Hello !"
mym o4 owyw @ m11v
o ANUWIULINAU
- 1+ 1 & 2
- 1+ 1.0 16 2.0

e iAANULINAUIIUIULULE
-"1" + 1 € fa
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print( ... ) WHAINANIIAAAN

print ("Hello") PEOgCEL Hello e el
print ("Python") Python

print ("Hello" + " " + "Python") Hello Python
print ("Hello", "Python") Hello Python
print("a", "b", "¢", 1, 2, 3) abcl223
print("1+1 =", (1+1)) 141 = 2

2110101 3ernssumauiieas w14 (14/09/67) 6



s (Variables)

o sRuUsiiluniAudaya

- giaviitiandrAu
- 1l&au luAdu'le
e o e Y
name = "Python" 1i1A1 "Python" AuluaILUs name
"/ ——————— \\ ° 1 [~ Q/
lang = name 1n1a3alu name tNuluaiuls lang

N1 1lang AU name LAuAILKTUAY

a 1 ¥ a=1

b =2 # a=1; b = 2

c = a # a=1; b=2; c=1
d=c+Db $# a=1; b=2; ¢c=1; d 3
d d + 5 # a 1, b=2; ¢c=1; d 8

NANLAULLEU 142 = a [E 1!
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Aaduils

e 15¥NAUAMUMBNTT AILAY UFaLATaININadaLFUT6
o snavaaulviaidutdnlitniiaudu
o Nudiusdutiasasnitau first name = "John"

o ‘LighAudigIULaI  ToStRane = THick

4 A
and as assert break class
continue def del elif else
except exec finally for from
global if import in is
lambda nonlocal not or pass
raise return try while with
\yield True False None
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Basic Data Types

o str AaAINU

e int FUIULAN

o float AUIURFY (TanAfian)

e bool  A1R39AULAALYINGY (True AU False)
o list Aataya LAuBaILius 6

0, 1, 1, 2, 3, 5, 8, 13, 21, 34, 55]

:" SU" , "MO" , 1) TU" , "WE" , 1) TH" , 1A FR" , 1) SA"]
16230012021, [2110101, 2301107]]

[ ]
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Ma¢tiN9: Variables & Data Types

first name = "Ranee" # str
last name = "Campen" # str
aka = "Bella" # str
age = 29 # int
height = 1.65 # float
is single = True # bool
birth date = [24, 12, 1989] # list

["Roy Marn'", "Plerng Boon",
"Bubphe Sanniwat", "Krong Kam"]

tv_series

print ("Name:", first name, last name)
print ("Age:", age)

print ("Aka:", aka, "or", aka[0:4:1])
d = birth date[0]
m = birth date[1l]
y = birth date[2]
print ("Born:", str(d)+"/"+str(m)+"/"+str(y))

W RANHINITARNTTADUYR
Usgianeng q sa'lil
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Type Conversions

o AauasIUlviajulaItilu string lasa8 str
o AayauvatnIAAIAUURILTU int AU float 6

print(sl+s2, n, f)

sl = "123"

s2 = " 456"

n = int(sl) + int(s2) # 579

f = float(sl) + float(s2) # 579.0

print(sl+s2 + ", " + str(n) + ", " + str(f))

= int (1)
int(1.9)
int(1.9 + 0.5)
float(1l.1)
float (1)
str("string")

HhOQOUDWN
i

3H= H H I

HhOQOoOUDWN
i

R ENR R

"string"
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input() SuaasvAIALLUNUNW

- input () sajudayanilaunvftduase
wanm enter Aayatuaznaratiusnse

| ° [~ Q
| AU IuaILUs name

name = input|()
print(name + " is a very easy language.'")
print ("We use " + name + " in our class.")
print ("Hello " + name + ".")

program

NAIANNFIVINIULRINAATIN Python Axgleanatilu

Python is a very easy language. | output
We use Python in our class.
Hello Python.
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Q ) =]

SUFUIY Aa Suaesvuanddautidudtuiu

X = input() program

d = float (x)
perimeter = d +d +d + d
print ("Perimeter of square =", perimeter)

nAYANNFIVINIuLaIna 12 Axagleanatilu

Perimeter of square = 48.0 output
X = input () d = float(input())
d = float (x) >
FUAUIUAFY
x = input|() d = int(input())
d = int(x) > o o &
o IUANUIULAON
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Basic Arithmetic Operations

+ UIN a=5+ 2 # 7
b=5-2 # 3
- au
c =5 * 2 # 10
* Qm d =5 **x 2 # 25
e 5/ 2 2.5
/ Pk f=5// 2 # 2
=5 % 2 # 1
//  wistaiey J
s w@Ewaanesuwls| |a/b,c =c,ab #a =10
# b 7
**  eINANAY # c = 3
= A1 TiAan o . o
a,b =b,a # & uArafub
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a = float(input())

a = -a # ldsudrnuauduun Snuwnfuay
b = int(a) # faAwuad a v

c = int(a + 0.5) # fdalAwuay a uuufiduniaay
d = a - int(a) # ANKAIAANAULNUDY a
d=a%1 # ANAVIANATAUUDY a
e=Db % 10 # LWRUNANKUILUAY b
f=b// 10 $ 10 # WRUNANJUUAY b

g=b // 10%*4 % 10 # wauvdnuiuwas b

h = input() # h LAURA3Y

h = int(h) # h Ausrudy (ddwdsans)
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LUUENe: Sutatdas uagaawtsu'lae
Input Output

0 :> 32
100 :> 312

celsius = float(input())
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Augmented Assignments

a =10 a =10

a=a+b5 # 15 a += 5 # 15
a=a-1 # 14 a =1 # 14
a=a* 2 # 28 a *= 2 # 28
a=a% 10 # 8 a $= 10 # 8
a =a ** 2 # 64 a **= 2 # 64
a=a// 10 # 6 a //= 10 # 6
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math module

import math

degree float (input())

radian = degree * 3.14159 / 180
radian = degree * math.pi / 180
radian = math.radians (degree)

s = math.sin(radian)

c = math.cos(radian)

g = math.log( 1E100, 10 ) # g = 100.0
. .o ~ B math
AWvAdUNIvAtia NS a = math.|
11AN1811147U math :

azin
mOdUle azinh
atan
atanl
atanh
ceil
copysign

COE W

2110101 3ernssumauiieas w14 (14/09/67) 18



Built-in Functions

a = abs(-2) ¥ a =2

b = round(2/3, 2) # b =0.67

c = max([4,1,5,3]) # c¢c =5

d = min([4,1,5,3]) $#$d=1

e = sum([4,1,5,3]) # e =13

f = len([4,1,5,3]) # £ =4

g = str(1234) # g = "1234"
h = int("123") # h = 123

j = float("-123.4") # 5 = -123.4
k = input()

print(a,b,c)

Aglarauignstdaureatulng q 13tafiavea‘ly
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TadWvAduau 9 Au'la

x1 input ()

X2

int (x1)
x3 = abs (x2)
x4 =1 + x3

x5 = str(x4)

print("x5 = " + x5)

print("x5 = " + str(1l + abs(int(input()))))

auafauunautiuly agtadnlaann

2110101 3ernssumauiieas w14 (14/09/67)
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Operator Precedence: 2 +3 *4 =7

e AN uNITAIUI AAAaUTUBAILT UG

[~4
SR TR NIGHT PEMDAS: Parentheses
_ anA& Expopential
_ Multiply
— U Divide
Add
% 0
/ // %0 Substract

— 1IN LAY AU
- gawunaamMNEAuLinAY Trvineenaldan
(anLIuanARY vinauing Ly 2**¥3*%*2 = 2*%*¥9 = 512)

2 * 3 4+ 8/ —(2 — 4) — 2%%2%%3

2 * 3 4+ 8/ —( -2 ) — 2%%2%%3
2 * 3+ 8/ -( -2 ) — 2%*8
2 *3 +8/ -(-2 ) - 256
2 * 3+ 8/ 2 - 256
6 + 8/ 2 - 256
6 + 4.0 - 256
10.0 - 256

2110101 3ernssumauiieas w14 (14/09/67) -246.0 21




fha819: AUIAUAUT LR LFUSALNILAIIINAL

radius = float(input()) e
area = math.pi * radius**2

circum = 2 * math.pi * radius

print ("Area =", round(area, 2))

print ("Circumference =", round(circum, 2))

BnadANFIVinunalilau 4.5 aglanatilu

Area = 63.62 output
Circumference = 28.27
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LlAAUTLAINAINR A

cEjo 012003,

21 auIAINTTUARAT
. 22 ALERANHIARRS
T NATAN RN 23 ALLINENANRAS
24 AUEISANRNS

- sAudgoUnfe o Anwiesgis
= sEAUURRANEY o AU
= vl 1 awineenaes

W

ssiuligws 1 aedieumians

seAuULTRINAANEY ¢ atinenmians

o~ D WO

sauUuRafne ¢ audasumanes
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ALY IURIIN = Aaanzay'ls t1inhilagls svaule

program

stu id = int(input())

print ("Student ID:", stu id)
fac code = stu id % 100 # LRANFAIAIUN
year in = 2500 + stu id//10**8 # 6@ 8 @)U
deg code = stu id//10**7 % 10

print ("Faculty code:", fac code)

print ("Enrollment year:", year in)

print ("Academic degree:", deg code)

ndIAFovinounarilau 6230012021 azlawaily

Student ID: 6230012021 output
Faculty code: 21

Enrollment year: 2562

Academic degree: 3

2110101 3ernssumauiieas w14 (14/09/67) 24



Q/

LRAILAAUTLANMUIANALKAN ANAZUIING

# sid
sid = int (input()) # 6231020121
d = sid % 10; print(d); sid //= 10 # 623102012
d = sid % 10; print(d); sid //= 10 # 62310201
d = sid % 10; print(d); sid //= 10 # 6231020
d = sid % 10; print(d); sid //= 10 # 623102
d = sid % 10; print(d); sid //= 10 # 62310
d = sid % 10; print(d); sid //= 10 # 6231
d = sid % 10; print(d); sid //= 10 # 623
d = sid % 10; print(d); sid //= 10 # 62
d = sid % 10; print(d); sid //= 10 # 6
d = sid % 10; print(d)

LAAYNUNE ; AUAIRING RIS ausaAuluLsTTUaLA AU
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wuunfm: Stirling Formula

T
n! ~ Zﬂ'n,(E)

€

import math

n = int(input())
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LUURNAYG: :91nAAY ax2+bx+c =0

U a b c NALITUNUN
ANNAULAZLIAIRAITINNNTAT

_b++/b? — 4ac

24

2110101 3ernssumauiieas w14 (14/09/67)

27



Basic String & List Operations
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3a9isiagy

 Length, Concatenation, Repetition
e Indexing and slicing
e String spliting

2110101 3ernssumauiieas w14 (14/09/67) 2



String and List

e String: a1AUAAIDNAUTY

- "ABCDEF"
e List: 9na1nN9URIUDYAR

- [0,1,1,2,3,5,8,13, 21, 34, 55]

- ['MO", "TU", "WE", "TH", "FR", "SA", "SU"]
e Operations

- AINUE len("ABC") 1len([1,2,3])
~- AN96A "AM4"BC" [1] + [2,3]
- Aseaduai 9 "A" % 3 [0,0] * 3

- Indexing x[k]

— Slicing x[start : stop : step]

2110101 3ernssumauiieas w14 (14/09/67) 3



String & List: Length, Concatenation, Repetition

print(len("123"), len([1,2,3])) program
H = "HBD"

T = "2U0"

HBD = (H + T)*2 + " " + H*2 + " " 4+ H+T
print(2*(HBD + " -- "))

x = ([0,1]1*2 + [3,4])*3
print (x)

33 output
HBD2UHBD2U HBDHBD HBD2U -- HBD2UHBD2U HBDHBD HBD2U --
[0’ 1’ 0’ 1’ 3’ 4/ 0’ 1’ 0’ 1’ 3’ 4’ 0’ 1’ 0’ 1’ 3’ 4]

2110101 3ernssumauiieas w14 (14/09/67) 4



String: Indexing

s = "HELLO World"
index O 1 2 3 4 5 6 7 8 9 10
HE LIL| O W olr l| d

index -11 -10 -9 -8 -7 -6 -5 -4 -3 -2 -1

g86992U1a N aans A index adus -N a9 N — 1

s[0] @a "H" s[-1] Aa "d"
s[1] @a"E" s[-2] @a"1"
s[10] @a "d" s[-11] Aa "H"

s[ index UanUId ] LAV
121U s[11] s[-12]

2110101 3ernssumauiieas w14 (14/09/67) 5



String: Slicing

s = "HELLO World"
index O 1 2 3 4 5 6 7 8 9 10
HELL|O W o|lr|l|d
-11 -10 -9 -8 -7 -6 -5 -4 -3 -2 -1
s[start:stop:step]

sauﬁhﬁ'—T 1357061

s[0:5:1] @a "HELLO"
s[1:11:2] Aa "EL ol"
s[10:5:-1] Aa "dlrowW"

s[-1:-11:-2] Aa "drWOL"

s[50:99:1] %A s[-12:-99:-1] 139 ld "

2110101 3ernssumauiieas w14 (14/09/67)



String: Slicing

s = "HELLO World"
index O 1 2 3 4 5 6 7 8 9 10
HE LIL| O Wi olr|l d

index -11 -10 -9 -8 -7 -6 -5 -4 -3 -2 -1
s[start:stop:step]

lild start 82771 0 finl step ARALU
1l stop 6271 len+l il start a1 -1
lild step G001 il stop 6271 —(len+1)

s[0:11:1] Wiau s[:11:1] wlau s[0::1]
Wlau s[::1] Wwilaus[::]
lau s[:] \lau s

s[-1:-12:-1] Wilau s[:-12:-1] Wwlau s[::-1]

2110101 3ernssumauiieas w14 (14/09/67) 7



21aAMI595239: uA ladanalugnslile

s = "Python"
s[0] = "g" # Ao

s = "Python" /
s = "J" + s[1:1 # o dunsasrdnsalng

2110101 3ernssumauiieas w14 (14/09/67) 8



ALY INFNRR Aaauzayls tainilay'ls syaula

program

stu id = input()

print ("Student ID:", stu id)

print ("Faculty code:", stu id[-2:])
print ("Enrollment year:", "25" + stu id[:2])
print ("Academic degree:", stu id[2])

nFINAFIVit eI lau 6230012021 azlawailuy

Student ID: 6230012021 output
Faculty code: 21

Enrollment year: 2562

Academic degree: 3

Sutauszandilugasv
WRanunanene 9 ladianinsuciusnuiunéy

2110101 3ernssumauiieas w14 (14/09/67)



QU

LUURNAYG: Laudszanansuszainu

11
ny, = | 11 — Z(IB—k)nk %11 | %10
k=0

k= 0 1 2 3 4 5 6 7 8 9 10 11 12

3/7(2(0/8|0|1(14(4 11|51

13-k =13 12 11 10 9 8 7 6 5 4 3 2

13x34+12x74+11%x2+10x0+9%x8+8x0+7x1+6x4+5x4+4x1+3x1+2x5 = 285
(11 - 285%11) % 10 =1

auldswansuiaudszanartinsdsgainaduun 12 nannivaing
LRIAIUIUNRRNUNFAGILFATU1ILY

2110101 3ernssumauiieas w14 (14/09/67)
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List: Indexing & Slicing (tuifiauua String)

# O 1 2 3 4 5 6 7 8 9 10 program
x= [0, 1, 1, 2, 3, 5, 8, 13, 21, 34, 55]

# -11-10 -9 -8 -7 -6 -5 -4 -3 -2 -1

print("x =", x)

print (x[0], x[-1], x[:3]1, x[2:4])

print(x[-3:-1], x[1:-1])

print (x[::-1])

x =[0, 1, 1, 2, 3, 5, 8, 13, 21, 34, 55] | output
0 55 [0, 1, 1] [1, 2]

[21, 34] [1, 1, 2, 3, 5, 8, 13, 21, 34]

[55, 34, 21, 13, 8, 5, 3, 2, 1, 1, 0]

2110101 3ernssumauiieas w14 (14/09/67) 11



uAladayaTuddeala (waudlulugandalils)

x = [0]*7 # [0,0,0,0,0,0,0]
x[1] =1 # [0,1,0,0,0,0,0]
x[2] = x[0] + x[1] # [0,1,1,0,0,0,0]
x[3] = x[1] + x[2] # [0,1,1,2,0,0,0]
x[4:7] = [3,5,8] # [0,1,1,2,3,5,8]

2110101 3ernssumauiieas w14 (14/09/67) 12



Q/

draeing: e uLtiludaiu

days_of_ week = ["Monday", "Tuesday", "Wednesday",
"Thursday", "Friday", "Saturday",
"Sunday" ]

d = int(input())
print( days of week[d - 1] )

Monday
Tuesday
Wednesday
Thursday
Friday
Saturday

S o0 W N R
N0 20 2 I U 2

Sunday

2110101 3ernssumauiieas w14 (14/09/67) 13



LUUEAEE: SUIUIULAN LRAIAIEIU
Input Output

0 :> Zero
1 :> one

n = int(input())

2110101 3ernssumauiieas w14 (14/09/67) 14



split wanansvaantidudse

e X = s.split() - -
- uanandv s aantiusiu q latdud«e (LLEIﬂG\')EI?ja\‘)'J'N)
-s = "11 2 33"

- s.split() 'la ["11", "2", "33"]

e X = s.split( sep )

- uan&ndv s aantusiu q letdud«s 1af sep tiludiuan

- s = "11:2: 33"

_ S.Split(":") VLG]V ["11"’ "2"’ " 33"]
"a’ , ’b".split("’") vLﬂV ["a", "", "", "b"]
"a b" . Split(" ") vLﬂV ["a" , vww , vww , "b"]
"g b". Spllt () VLﬂV [nan , nbn]
"a,,,b".split(",,") vLﬂV ["a", ",b"]

2110101 3ernssumauiieas w14 (14/09/67) 15



sduuunIsiudaya

x = input() t = input () .split()

t = x.split() ::$>

623102021 John Wick 623102021,90,87,2.54
t = input() .split() t = input() .split(",")
student id = t[O0] student id = t[O0]
first name = t[1] midterm = int(t[1l])
last name = t[2] final = int(t[2])

gpa = float(t[3])

2110101 3ernssumauiieas w14 (14/09/67) 16



waau Ju/idan/dl a.q. (fu Su/dau/il w.a

program

inp = input()
t = inp.split("/") # "d/m/y" -> [d,m,y]
y = int(t[2]) + 543

out = t[0] + "/" + t[1l] + "/" + str(y)
print( out )

nd9NFovinduuarilay 5/12/2019 aglewaiilu

5/12/2562 output

115/12/201911 |:> [115", "12", "2019n]

2110101 3ernssumauiieas w14 (14/09/67) 17



AAFILAG

t = x.split() | vilwludiau > |t = split(x)

. split LildwerAduiiyly

. split JluWeAdunldeuanizduanse Baniilu
method 1ay&m3v

o gazviivianauiaalnlad

o silununslzdonu: &039. daluniaa (...

a = x.upper () # &vandolumiiifudongudive
b = x.lower () # &9&a39lnunidudvngquaiian

c = x.strip() # &waedelniavdasinvehaunaan
xx % ofyausnilfelulele aglad@nluunds q 1l ***

2110101 3ernssumauiieas w14 (14/09/67) 18



wuuinika: Su 20/5/2010 u&ns May 20, 2010

Input Output

1/1/2019 :> January 1, 2019

31/12/2020 :> December 31, 2020

2110101 3ernssumauiieas w14 (14/09/67) 19
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WJddU (Flowchart)

HUUANAL ShTallk) 297U

?
— = | <D

A 4 T
F
(stop ) Cstop)

2110101 3ernssumauiieas w14 (14/09/67) 3

T




WNIYIU © UTTEN ﬂifum AUNTTNIU

weight

VLN ERRR
: wiluwauw
height
v

hm = height/100
bmi = weight/hm?

bmi LRAINANII
WDAN
(_stop )
Flowchart =

2110101 3ernssumauiieas w14 (14/09/67)

weight = float (input())
height = float(input())

hm = height / 100
bmi = weight / (hm**2)

print( bmi )

Program




NIVTUULRATRY @ if - else

false true

il

<

\ 4 A 4

do this do this
if false if true

o e

o

if sauly

do this if true
else

do this if false

2110101 3ernssumauiieas w14 (14/09/67) 5



weight

/

height

weight < 0
or
height < 0

False

v

hm = height / 100
bmi = weight / hm?

True

bmi < 18.5

"Underweight”

"Overweight" "Normal”

"Error"

2110101 FAnssumaniiinas 3« (14/0



AL auAY if - else

yat+=5 e sadl

I1b = a * ¢ / 2 J ]
Y S LA3aInuNe -

a =1

'b=a+b

I 1 [ %4
AdulunauLfenAusiadLiag
120 Tl MieseAu

if a < 9
a += 5
b=a*c¢c/ 2

else :
a =1

b=a+Db

nau if Au else Liasadun'le
2110101 3ernssumauiieas w14 (14/09/67) 7



UWAUUIAU: MUUaIaula

e lenatilu True wda False

o lflpFadviang < > <= >= l= == fia
WeauAauIN < > < > £ widu

o HaunsuBauiaulesaea and or

e ARUNANSLUFaULAULGGIE NOt

e a19%9 and or not agvin not Aau wa?l and wa? or

ifm==4o0orm==6orm-==9 orm-==11
print ('RIVINUEIY "AU" ")

if not(m == 2 or m == 4 or \
m= 6 orm==9 orm== 11)
print ('RVVNUEIL "AN" ')

ifm '= 2 and m '= 4 and \
m != 6 and m '= 9 and m '= 11
print ('RVVNUEIL "AN" ')

2110101 3ernssumauiieas w14 (14/09/67) 8



M LN

if x $ 2 ==0 : # d1x dudruiug

if 1 <=m <= 12: # d1m fAeous 1 89 12

if y % 400 == 0: # 61y 1156728 400 Q96N
if student id[-2:] == "21": § andufiiadaiv

if tel no[:2] == "02": # andulnsdAwrilu nnu

2110101 3ernssumauiieas w14 (14/09/67) 9



LUUR AR : KUELRAINIANYILAR AU

tel no = input()

if

print ("Mobile number")
else:
print ("Not a mobile number")

ol

tel_no flununaauinsdnrvitadaudi iaf
- 10 wian uas
- fiusiusn ey 06, 08 waa 09
(lusiavasranandauinilusiia
1653 zeMLAN Y AaavinTun1a1iae)

2110101 3ernssumauiieas w14 (14/09/67) 10



weight < 0
J' or
height < 0

hm = height / 100
bmi = weight / hm? Error

True

False

bmi < 18.5

"Underweight"

"Overweight" "Normal"

2110101 3ernssumauiieas w14 (14/09/67) m

weight = float(input())

height = float (input())

print ("Error")

hm = height / 100
bmi = weight / hm**2
if bmi < 18.5

print ("Underweight")
else
if bmi < 25

print ("Normal")
else:

print ("Overweight")

o O

11



ANSLUTHULNAURRANUII G

o WFaumAaunazaIAnN2d el

[10, 2] > [9, 9, 9] RINTOEN
[10, 2] > [10, 1, 9] ifluasy
[10, 2] > [10] RINTOEN
[10] > [1] (Huase

2110101 3ernssumauiieas w14 (14/09/67) 12



ANLUTULNAURONFTIA U

. dATFINOEAILRNTANINNIIR TNA
- Manrsiadaaldunnauadrsu A 9 2
"A" < "Z" BITELN
"A" < "B" < "Z" < "a" < "b" < "z" fluase
e dnFumILRUIMUaa lUINAAIUAIGU 0 §9 9
"O" < "1IM < "2" < "3 < 4" < "9 1flusde
o LFauLNEaURMFVACLUSEULNAUNREAIANN2 e 1IN

"ABC" < "aA" RPREN
"ABC" < "ACAA" L Huasv
"ABC" < "ABCC" LHuase
"100" < "19" RREN

2110101 3ernssumauiieas w14 (14/09/67) 13



M LN

if "a" <= x <= "z" or \
"A" <= x <= "Z" : # a1 x tfudanwsaang
if "0" <= x <= "9" # 61 x Hudra

# 61inviay 31 n.a. 2540, birth date = [y,m,d]
if birth date > [2540,9,31]

2110101 3ernssumauiieas w14 (14/09/67) 14



wuuniia: tealnailan

TUTULNATUSUINUTLRIUAT 1527 Gaeiel

a1y wazala tiu diaa drdvngulnal
LAY AIAINOFLAN ANAIAY 1352l

Input Output
9Ab > |Yes
0X3j :> Yes
123 > |No
1X :> No

2110101 3ernssumauiieas w14 (14/09/67) 15



if a in b : aaglub ?

e 61 a AU b LTHuaA3Y
~a in b ¥ a Lfluae3dveaauay b wia'ly
— "python" in "I love python" METEEN
- "python" in "I love Python" \Huina

e 61 b LHuAG
~a in b ¥ a dusaundnTudss b wia'ly
-6 in [2,4,6,8,10] flux3v
— "Bones" in ["Kirk", "McCoy", '"Spock"] LHunia

« if not (a in b) : # a1 a"l,u'agj"lub
e« if a not in b : # a0 a"l,u'agj"lub

2110101 3ernssumauiieas w14 (14/09/67) 16



M LN

# M x HugasynAudrIansaILeen

# NeFaul x LAumansmilugse
if x=="a" or x=="e" or x=="i" or \ 1931 A

x=="0o" or x=="u" or x=="A" or \
x== "E" or x==" I 1A or x== "O" or x== "U"

a1 x 1Ay "ei”

if x 1n "aeiouAEIOU" < @ -
ALuadg

if X in ["a","e","i"’"o","u"’
"A" , "E" , "I" , "O" , "U"]

R

D¢

LLUUUNT

adlq
‘m
A

2110101 3ernssumauiieas w14 (14/09/67) 17



LUUNNR: G]’S)Qiﬁﬁﬁl WU

01
02
20
21
22
23
24
25
26

27
28
29
30
31

sonTun InaFIUss 32
Auenisa@n171d 33
TUNAINERE 34
AUZIFAINTTUATRNS 35
AU NHTAROT 36
AUZINENARNT 37
ALISANRAT 38
aasaadaeanssudgns 39
AUZWIL AL FARAS 40
uaynseyd

AOLLATANRAS 51
AUZHULNAF NS 53

AULLATHSANRAT

AUSLLNNEFARANT 55
AUSHAILNNEUAIRAT 58

2110101 3ernssumauiieas w14 (14/09/67)

NQNEaYIAa LU ?

AUZNUALNNEAIRNST
AUNILARUA RS
AUSUAARRNS
AaaLsAUNITUARAST
AQLSWENUNRARNS
AUSRNLIUANTNT
ALTANINEN
AUZINENAIRANTNITANN
g1UnJUININENAS
ATTLA AT
INeNAaUsTANTANTAT
ANNNEINENARAST

SR RERIGE!

g1 UN TN

g1 TUTUNAUITNITGIN
ARUNT

18



sduuuAIFINTel 398911 / LA 9vin

false . true false o true
wiailu wiailu
do this do this
if false i1f true
:?: :?:
if 1521y if 15auly
pass do this if true
else : else
do this if false pass
if not tiauly if 1521l -
do this if false do this if true

pass Ldud&eiuvaninlusasvinasls wuliae

2110101 3ernssumauiieas w14 (14/09/67) 19



= | Q/

TUNAATU

MaeNg:

e MWy LAuLR2l A.A.
WWaunuawusd 29 Ju Aula
— v 115678 400 RV 19D
— vV 115678 4 9N WEaIKI9628 100 TuRIA?

— vafu 11 2004, 2000, (T 2100 Bidaula)

y = int(input())
days in year = 365

if (y%400 == 0) or \
(y$4 == 0 and y%100 !'= 0):
days in year = 366

print (days in year)

2110101 3ernssumauiieas w14 (14/09/67) 20



fragn: da 2 uau 1

pl = float(input())
p2 = float(input()) SurayA
p3 = float(input())
min p = pl
if p2 < min p:
min_p = p2 A6
if p3 < min p:
min p = p3

total p = pl + p2 + p3
print ("Total:", total p) IG{NR
print ("Get on free:", min p)

print ("Pay only:", total p - min p)

2110101 3ernssumauiieas w14 (14/09/67) 21



LUURNAWG: @ZLUUTNUIRAN

AZLLUUADINITUATT 4 AU ﬂﬂﬂuLLHUMQWﬂﬂLLauﬂ\‘lﬂﬂaaﬂ
LaUIAY LLuumaoaamummaammmLaaﬂ

Input Output
9.15 9.20 9.30 9.50 :> 9.25

x = input () .split()
sl = float(x[0])
s2 = float(x[1])
s3 = float(x[2])
s4 float (x[3])

2110101 3ernssumauiieas w14 (14/09/67) 22



if —else — if —else - ... if — else

if w == :
print ("l1813")

else

if w == :
print ("aiae")
else
i1f w == :
print ("3uni")
else
if w == :
print ("94a13")
else
if w == :
print ("ws")
else
if w == :
print ("WOWRUA")
else
print ("an3i")

2110101 3ernssumauiieas w14 (14/09/67) 23



if — else — If — else ->

if — elif — else

1f w == :
print ("814")

w == :
print ("a1iag")

w == :
print ("3uni")

W == .
print ("9413")

w == :
print ("W5")

w == :
print ("WOWRUA")
else
print ("@ni")

if W == :
print ("1813") <:>

w == :
print ("aiag")

w == :
print ("3un3i")

W == :
print ("94a13")

w == :
print ("Ws")

w == :
print ("WOWRUA")
else
print ("@n3")

2110101 3ernssumauiieas w14 (14/09/67)

24



LUURNAWR: RLATE

( stoé ?
2110101 J@rnssumaNnILeas 9/67)

float (input())

25
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AAIMIAINTIUAAUNILORAS
IRINTAN K INENAE
©&E Dl



WJddU (Flowchart)

HUUANAL ShTallk) 297U

?
— = | <D

A 4 F
T
(stop ) Cstop)

2110101 3ernssumauiieas w14 (14/09/67) 3

T




297U : While

. F . F
Nau'lu? aulu?

T T

v v

_gavfiip3asnung &

-

-
-

while (Fauly . 4~
|

\Aquendsivityudariau lzuduasy

"drdvlunausiagtiiagtnldnivain vasedunue

2110101 3ernssumauiieas w14 (14/09/67) 4



MIaeNg:

4

Z(Zk —1)?

k=0

s=0:k=0

False

True

s += (2*K - 1)**2
K += 1

2110101 3ernssumauiieas w14 (14/09/67) 5



S
+= (2*0 — 1) **2 s += (2*k - 1)**2; k += 1
+= (2*1 - 1) **2 s += (2*k = 1)**2; k += 1
+= (2*%2 — 1) **2 s += (2*k = 1)**2; k += 1
+= (2*3 — 1) **2 s += (2*k — 1)**2: k += 1
+= (2*%4 — 1)**2 | |s 4= (2*k — 1)**2;
print(s) print (s)
s =0, k=0 s=0:k=0
while k < 5 : False
Al s 4= (2%k - 1)**2
'.‘..““: k 4= 1 True
s += (2%k - 1)**2
print (s) k=

nUUYing1 5580 k 1301 0 usaysautnu 1
Ja k 1ilu 5 Wauluiluiia aananniaiu
2110101 3ernssumauiieas w14 (14/09/67) 6



sy 29ULNavintaAIFIN 9

i

-

vinain
n A39

2110101 3ernssumauiieas w14 (14/09/67)

k=0

while k < n:
A
k += 1

k=1

while k <= n:
A

k += 1




AIAELNY: WIAUAAFAINNAANA 5 67
float (input())

min v = float(input())
v = float (input())
if v < min v:
min v = v
v = float(input())
if v < min v:
min v = v
v = float (input())
if v < min v:
min v = v
v = float(input())
if v < min v:
min v = v
print ("min =", min Vv)

min v
k =0
while k < 4:
v = float (input())
if v < min v:
min v = v
k += 1
print("min =", min v)

2110101 3ernssumauiieas w14 (14/09/67)




MIAENY: KIANURAFAINNUUAREIA

4 <«—
10.0
11.2
15.5
12 .4

I
UanNNAUIN
ALHAITUARN

2110101 3ernssumauiieas w14 (14/09/67)




LULN AR KIAILRREINNADNRINREA?

2110101 3ernssumauiieas w14 (14/09/67)

Input

10.0
10.0
11.0
12.0

10.5

&

&

Output

10.75

10.5

No Data

10



MIALNY: KIINANRAIAILID bisection

2110101 3ernssumauiieas w14 (14/09/67) 11



MIALNY: KIINANRAIAILID bisection

e GRYNTUNIIINTIRAYUAY A
e WiL=0,U-=a
e Amauatiu [L, U]
e X = AAINANIUAILIY
o vinzivanviiai 61 x2 ~ a
' — & X.2 > a:
ot al&auhedlu [L, x]
— 1 X2 < a:
i wlReuthadlu [x, U]
i x = aAvnansuaga

2110101 3ernssumauiieas w14 (14/09/67)

a=25

U

X

4.882813
4.980469
4.980469

25

12.5

6.25

6.25

6.25
5.46875
5.078125
5.078125
5.078125
5.02929/

12.5

6.25
3.125
4.6875
5.46875
5.078125
4.882813
4.980469
5.029297/
5.004883

L+U
X =—
2

12



MIALNY: KIINANRAIAILID bisection

e GRYNTUNIIINTIRAYUAY A
e iL=0,U=a
e Amauatiu [L, U]
e X = AAINANIUAILIY
o vinzivanviiai 61 x2 ~ a
' — & X.2 > a:
ot al&auhedlu [L, x]
— 1 X2 < a:
i wlReuthadlu [x, U]
i x = aAvnansuaga

2110101 3ernssumauiieas w14 (14/09/67)

a = float(input())

L =0, U=
x = (L + U)

________________________________________________

while x**2
| if x**2
U =
else:
1L =

x = (L + U)/2/§

~

print (x)

a

/2

X

________________________________________________

13



MIALNY: KIINANRAIAILID bisection

a = float(input()) a = float(input())
L=20;U-=a | [ L=0; U=a
x = (L +U)y/2 8am| |y = @+ vy/2
while x**2 1= a: while Belalndiu (x**2,a):
if x**2 > a: if x**2 > a:
U =x U =x
else: else:
L =x L =x
x = (L + U)/2 x = (L + U)/2
print (x) print (x)

a fu b 89 lulnafuda la — b| > emax(a, b)

9} Q/ <S
1% a fu b 1fuwnn, € uaz 10-° [abs (a-b) > le-9*max(a,b)

2110101 3ernssumauiieas w14 (14/09/67) 14



wuuiniia: »1 log,,a e bisection

Wautidswnsudy a tWann log,, a e bisection
Taa 1 <a <600

a16a9n1s vty adu Al a tiu 600 unn 9 6

2110101 3ernssumauiieas w14 (14/09/67) 15



297U for

for k in range(start, stop, step) :

for ¢ 1in a string :

for e in a_list :

2110101 3ernssumauiieas w14 (14/09/67) 16



wuu 1: for k in range(start, stop, step)

2110101 3ernssumauiieas w14 (14/09/67)

for k in range(4,100,2)

k = 4,6,8, ..., 98

for k in range (100, 0,-1)

k = 100,99,98, ...,1

for k in range(5,100)

k = 56,7,..,99

for k in range(100)

k=012,..99

17



wuu 1: for k in range(start, stop, step)

¥

s =0 ATULRT
i=2,4,..., 30
ASULAT
-1ﬂllﬁilﬁﬂhh-

5 4= 1 ¥

S

2110101 3ernssumauiieas w14 (14/09/67) 18



MIAELNY: 1 LWRE &

N = int(input()) input|5
x = [0.0]*N 10
for i in range(N): 11
x[i] = float(input()) 13
10
s =0 12
for i in range(N): N X
s += x[i] Lt S
mean = s / N N
s2 =0
for i in range (N) : B 2 —p)?
s2 += (x[i]-mean) **2 0 = N
sd = (s2/n)**0.5 \
print (mean, sd)

2110101 3@2n35UAANNIIADT Y= TooTory 20




aIatnd: Dot Product u-v

input () .split()
[0.0] *1len (x)

i1 in range(len(x))
u[i] = float(x[1i])

X
u
fo

p)

N =
NN
= O
N =

input () .split()
[0.0] *1len (x) J:L
i1 in range(len(x)) :

v[i] = float(x[1i])

fo

p)

12.0

dot = 0
for i in range(len(x)):
dot += u[[i]*v([i]

print ( dot )

2110101 3ernssumauiieas w14 (14/09/67) 21



LUURNAVR: a9y 1aauLsile

sol = input() # e.g., ABBBAAABCCBABABDCCDA
ans input() # e.g., ABBBAABBCCBAABBDCDDB

# 171 sol AU ans G AUAG

2110101 3ernssumauiieas w14 (14/09/67) 22



wuui 2: for each_character in a_string

2110101 3ernssumauiieas w14 (14/09/67) 23



2110101 3ernssumauiieas w14 (14/09/67)

ALY UUINUIUMILRATURAFY

s = input()
digit counts = 0
for ch in s:

if "O0" <= ch <= "9":

digit counts += 1

print (digit counts)

wuuidanIn

s = input()
digit counts = 0
for i1 in range(len(s)):

if "0" <= s[i] <= "9":

digit counts += 1
print (digit counts)

24



faeine: g9ae3enbifiveiasviuna ([{Y])

s = input()
result = ""
for ch in s:

i1f ch not in "([{}])":
result += ch

print (result)

Q/

nauaanUINaLa?
avladla ([ () 1)
A LN TUAURATINAANE

2110101 3ernssumauiieas w14 (14/09/67) 25



wuutnia: [ ] A ()

Input Output

[x + (y - 2)1] ) [(x+ [y - z])

Programming > | Programming

F39&6039 TUUN
WNUIILAY () 68 [ ] LAY
WNUILAL [ ] 628 ()

2110101 3ernssumauiieas w14 (14/09/67) 26



wuuin 3: for each_element in a_list

2110101 3ernssumauiieas w14 (14/09/67) 27



fhaeng: wiALad

X = input() .split()

0
for e in x:
s += float (e)
avg = s/len (x)

print ("Average =", avg)
Input Output
10 20 30 20 10 Average = 18.0
input () .split () niuiniazin wlaiy
float ualvinALade

NN
["10", "20", "30", "20", "10"]

2110101 3ernssumauiieas w14 (14/09/67) 28



2110101 3ernssumauiieas w14 (14/09/67)

Tips: 1 laAURNTILRTARG

niaunazarannaina 'l

for e in x

naUNQZAIAINUINUDAE
for e in x[::-1]

uiiunazarannana’ldun Limmagaving
for e in x[:-1]

naULaNIZA? index @annaelaan
for e in x[1::2]

29



LUUHNAYR: dudanudu the uay The

The word "the" is one of the most common words in English.

"oy @ WRBULATBINILITIN
MAUN WU

The word the is one of the most common words in English

@ split ()

[IlThe"’ llword"’ llthe", "iS", llonell, llof"’ llthell’

"most”, "common", "words", "in", "English"]

@ 111U the N The

3

2110101 3ernssumauiieas w14 (14/09/67)
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break : dd9tNaliaan’annliviu

oW
[}

ASUWRT

8 += x*k
k += 1
I

o

2110101 3ernssumauiieas w14 (14/09/67) 31



break : ddytiNaliaanarniviu for

if Waula
break

for k in range(n):

A 1

2110101 3ernssumauiieas w14 (14/09/67)

n = int(input())
for k in range(2,n+l):
if n%k ==
break
if k ==
print ("Prime")
else:
print ("Composite")

SuAUIULAN N

W1 Kk s n e k = 2,3,..,n
LaaanuanIdIY

a1 k windu n > dudwwany
Tt uiiu > dudrurudsenau

32



break : ad9tNaliiaananniviu while

while tJaula:

if Waula
break

WFaula?

T
T

A
—>

2110101 3ernssumauiieas w14 (14/09/67)

t = input() 10.0
s =0; n=20 10.0
while t 1= "qr: 1.0
s += float(t) q
n += 1
t = input()
print ( "Average =", s/n )
s =0; n=0 10.0
while True: 010
_ 11.0
t = input() 12 0
if t = "gq": q
break
s += float(t)
n += 1
print( "Average =", s/n )

while True AaynufivyuluBasn q
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LUURNAWR: LANMEAILA

Guess my number (0 to 99) Guess my number (0 to 99)
You have seven tries You have seven tries
50 1
Higher Higher
75 2
Lower Higher
57 3
Higher Higher
68 4
Lower Higher
62 5
Lower Higher
60 6
Lower Higher
59 7
You win Higher
You lose, the number is 9

2110101 3ernssumauiieas w14 (14/09/67) 34



LUURNAWR: LANMEAILA

2110101 Fernssumauiiteas Wi (1

import random

print ("Guess my number (0 to 99)")
print ("You have seven tries")
n = random.randint (0, 99) gFuauszniie 0 &9 99

for k in range(7): |
m = int (input()) TWiaavmeatisun 7 asy

TTOITO7 )
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List Processing

AAIMIAINTIUAAUNILORAS
IRINTAN K INENAE
©&E Dl



List Aa 18015291 auR

'] <€ empty list

2,3,5,7,11,13,17, 19, 23]

"SU", "MO", "TU", "WE", "TH", "FR", "SA"]

' |"Ranee”, "Campen”|,

|"Roy Marn", "Plerng Boon",

"Bubphe Sanniwat", "Krong Kam"] ]

2110101 3ernssumauiieas w14 (14/09/67) 3



Basic List Operations

 Length len([1,2,3])

e Concatenation [1] + [2,3] = [1,2,3]

e Repetition [0,0] * 3 - [0,0,0,0,0,0]
e Indexing x[k]

e Slicing x[start : stop : step]

2110101 3ernssumauiieas w14 (14/09/67) 4



LUURNNYG: Laulane i

0110-02234-9877-0112 :> 5,6

9876543210 :>None
d = input() 6iavn151 counts[k]
counts = [0] * 10 \fygvnuiidiaz k Usinglu input
for ¢ in d: |
if "Q" <= ¢c <= "9": uiiunazeailu input
counts[int(c)] += 1 gndluay AlvitAu

FuIuiwudn 1
|

WLRUAT counts uag
eatiutilu 0 wealn
6059 Missing

missing = ""

if missing == "":
print ("None")
else:
print (missing)

2110101 3ernssumauiieas w14 (14/09/67)



Basic List Methods

append, remove, insert, pop, 1index, sort

d = []
for i in range(5):

d.append(10*i) # [0, 19$20 30,40] cavuaas
d.remove(20) = # [0, 10 30,40]
d.insert(2,99) N [0710,99, 30,401
d.insert(-1,7) # f6“16m§§"§b 7,40]
x = d.pop (1) ,____-_---_:ﬁjjjjjj'#""[o 99,30,7,40], x = 10
x = d.pop (-3) _E"féwgg 7,401, x = 30
5 = d.index (99) 5 =1
d.sort () # [0,7,40,99]
b =40 in d # b = True

d.remove(e), d.index(e) d111 e lunwulu d agtindafianala

2110101 3ernssumauiieas w14 (14/09/67) 6



GlaeNd: WILRUALGAUINNdALGAY

months ] [" Jan" , " Feb " , "Mar" , "Apr" , "May" , " Jun" ,
" Jul " , "Aug" , " Sep" , "Oct" , "Nov" , "Dec"]

t = input()

if t in months: Aaulyd index siav
k = months.index(t) fulanfidayanazau
th = "th"

if k == 0: th = "st"

if k == 1: th = "nd"

print(t, "is the", str(k+1l)+th+" month.")
else:

print ("Invalid month name")

Sep :> Sep is the 9th month.
Jan :> Jan is the 1lst month.
Feb [:i> Feb is the 2nd month.
Ok :> Invalid month name

2110101 3ernssumauiiieas W4 (14/09/67) 7



wuuilnie: datauagls Aaxsyag'ls

L?.IEI‘IJT]J'SLLﬂ‘SﬂJ smjaasauamwjatau
smjmauu&mmjaaso 'imu“[umao‘l?jmam if

Robert <~ Dick
William < Bill
James <~ Jim
John < Jack
Margaret <~ Peggy
Edward <~ Ed
Sarah & sally

Andrew @p://\ﬁmdgt.kvoto—su.ac.ip/"‘trobb/nicklist.htmI

2110101 3ernssumauiieas w14 (14/09/67) 8


http://www.cc.kyoto-su.ac.jp/~trobb/nicklist.html

sduuunssutayatAuludas

e FZUAUIU MUMIAADYRAUTTVAREA
4

10.2
11.5
20.0
22 .5

e JUNDUAUTTNARYAD AAITZTUINUUA
10.2
11.
20.
22 .
-1

e JUTEN TN TULITNRLALN
10.2 11.5 20.0 22.5

U1 O U

2110101 3ernssumauiieas w14 (14/09/67) 9



WUUTA 1: 5YUIIUIU AUAILANALTTITARLED

input

10.2
11.5
20.0
22.5

2110101 3ernssumauiieas w14 (14/09/67)
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WUUT 2: Sutayaussieasd da1seuinvue

input

10.2
11.
20.
22.

OO O

2110101 3ernssumauiieas w14 (14/09/67) 11



LUU 3: Fusnan1saayalulssviaLmen

input

10.2 11.5 20.0

2110101 3ernssumauiieas w14 (14/09/67) 12



AAULULUT: NINAVINEU]ARG

data.append( x ) @@ L%)

data = data + [ x ] . Vi

data += [ x ] C)

2110101 3ernssumauiieas w14 (14/09/67) 13



LUURNAWG: LWHKRAI-LIWH LN

input

Wntayafluituiu
MUNUNTUUITWNALLTA

S

=

i)
WINDERE &

1“1 | 4 y
A9 WU NA9 WU UA9 |11 12 13 14 15 | « Wiurayanndluussiiadl
i | 21 R
hay | 22
il | 23
nay | 24
i1 | 25
-1

> Windayannditaa -1

output
[25, 23, 21, 14, 12, 4, 2, 1, 3, 11, 13, 15, 22, 24]

2110101 3ernssumauiieas w14 (14/09/67) 14



sHvuunsniivdananasM U UIUTTUIANR

for e in d: naudayanazen’
© Tudaedunladou

for i in range(len(d)) : 16129015949

e = d[i] * 1 o AIULNRUILRLADYA
for e in d: asndaunyud

i = d.index (e) 2tdan 9

. Tafuuuii 2

2110101 3ernssumauiieas w14 (14/09/67) 15



MAENd: WUINUIUNINTIAIY TURR6

student ids = input() .split()
¥ ["6131022921","6240123026", "6130021221",...]

c =0
for sid in student ids:
if sid[-2:] == "21":
c +=1
print (c)

2110101 J@r1n5suAUN

student ids = input() .split()

c =0
for i in range(len(student ids)):
if student ids[i] [-2:] == "21":

c += 1
print (c)

63 AW (14/U9/67)
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d1siavn1stdRautayauranI Ul s

# 1aaudnmudnaurivnualudas d Twitiduunn
for e in A4d:
if e < 0:

Ko e

# alu e tddau we'lutdaualu d

# ldauirmudaauriarnaludas d Wduunn
for i in range(len(d)):

if d[i] < O:
/ d[i] *= -1 # waaualu d euvisasns

2110101 3ernssumauiieas w14 (14/09/67) 17



stuuunsniivdananfnAUTURRETUIUTZUIANA

for i in range(len(d)-1):
left = d[i]

rght = d[i+1]

for i1 in range(l,len(d)):

left d[i-1]
rght d[i]

2110101 3ernssumauiieas w14 (14/09/67) 18



AIAENY: ANAULWNAUKFTA LY
Input Output

4 6 9 10 14 34 45 99 :> True

23450855559 [ |False

d = input() .split()
is increasing = True
for i in range(len(d)-1):
if int(d[i]) >= int(d[i+1]):
is increasing = False
break

print (is_increasing)

2110101 3ernssumauiieas w14 (14/09/67)
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LUURAYR: TUIUIU "aan” (Was u1n ian)
Input Output

1234824591089101115181220|:>3

12345610 11 12 13 45 79 80 81 89 90 | > |0

"
I

= input () .split()

d = []

for e in x:
d.append(int (e))

count = 0

print (count)

2110101 3ernssumauiieas w14 (14/09/67) 20



Q/

LUUHAYR: AadaNaNLANAIIAUNRD
Input Output

1231232331112 AU AUTUARE wa? sort

U

(1,1, 1,1,1,2,2,2,2,3,3,3 3] || 3

X = input () .split()

d = []

for e in x:
d.append(int (e))

d.sort ()

count =1

IULAN count NAATI NWUMIARAUGEIIAU

print (count)

2110101 Fernssumauiiteas W4 21



sduuunsAudayTude6

['KTB', 18.9, 'BBL', 176.5, 'SCB', 132.0, 'KBANK', 172.0]

['KTB', 'BBL', 'SCB', 'KBANK']

[ 18.9, 176.5, 132.0, 172.0 ]

[['KTB', 18.9], ['BBL', 176.5], ['SCB', 132.0], ['KBANK', 172.0]]

2110101 3ernssumauiieas w14 (14/09/67) 22



suuunIsAutdaua TUR6: NTOLRGLULGE

asaitiludadninudananugu (Luludsddaud«s)

# x Hudad asnduINd ¢ T x vu ?
# x=1[3,1,4,5,2,4,7], ¢ =5
if ¢ in x:

# x Hudas aennsin c tAulu index Talu x
if ¢ in x:
J = x.index(c)

2110101 3ernssumauiieas w14 (14/09/67) 23



sduuunIsAutaNaTUAE: ATalLALUVRIL_RE

12U URE sid Lﬂ']JLa?.I‘]J’a'uQ']G]') URYARE gpa LAULATA
1N9A2AAY sid[k] Lﬂ‘.uam/l gpalk]
sid = [6131001021, 6130020221, ...]
gpa = [3.8, 3.7, co ]
siagn1sau ID Maulain ensatvin'ls ?
o if ID in sid:
j = sid.index (ID)
print ("ID =",ID, gpaljl)
else:
print ("Not found")

2110101 3ernssumauiieas w14 (14/09/67) 24



sHuuunsAutaualul6: nsdladcAUIRE

iy ssLAu [ID, gpa]

data = [[6131001021, 3.8], [6130020221, 3.7], ...

savn1sau ID Naulain latnsatvin'ls ?

‘g’ gpa = -1 |
for e in data : # e (duARsNAf 2 dav
if e[0] == ID:
gpa = e[1]
break
if gpa == -1:
print ("Not found")
else:

print ("ID =",ID, gpa)

2110101 3ernssumauiieas w14 (14/09/67)
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sHuuunsAutiaualuls6: nsaladc A UIE

iy ssLAu [ID, gpa]
data = [[6131001021, 3.8], [6130020221, 3.7], ...]

savn1sau ID Naulain latnsatvin'ls ?

‘E’ gpa = -1
for [sid,g] in data : saandnuuufaud
1f sid == ID:
gpa = g
break
if gpa == -1:
print ("Not found")
else:
print ("ID =",ID, gpa)

2110101 3ernssumauiieas w14 (14/09/67) 26



wuunfm: upgrade

auldsunsudfunsatin vtinzaunladugnaauazuiiviles

Input Output
" |44444 A 44444 A
22222 F 22222 D
- 11111 B+ 11111 B+
N96ILMA >
SRR 66666 C 66666 C
55555 B 55555 B+
_| 33333 D+ 33333 C
) q
169808 — | 33333 22222 55555

upgrade

2110101 3ernssumauiieas w14 (14/09/67) 27



ANTLIEIRNAUADUA

[90, 22, 44, 70, 20, 51, 12, 39, 67, 56, 88, 31, 72, 77, 53]

d.sort ()

[12, 20, 22, 31, 39, 44, 51, 53, 56, 67, 70, 72, 77, 88, 90]

2110101 3ernssumauiieas w14 (14/09/67) 28



ANTLIEIRNAUADUA

(1o, 10, 11, 12, 11, 13, 11, 11, 12, 10, 13, 10, 10, 13, 13]

d.sort ()

(ro, 10, 1o, 1o, 10, 11, 11, 11, 11, 12, 12, 13, 13, 13, 13]

2110101 3ernssumauiieas w14 (14/09/67) 29



ANTIENAALAAYR: NTELINE

x = [3,1,4,5,2,4,7]
x.sort() # x=[1,2,3,4,4,5,7]

— [ (A Tom" , "Ann" , "Don" ]
. Sort () # X = ["Ann" , "Don" , "Tom"]

XN

x = [["a",9], ["C",1], ["A",1]]
x.sort() # x = [["A",1], ["A",9], ["C",1]]

BedaNUGILTANAY 816usALYINAY IHBaIeNEITIRAY

2110101 3ernssumauiieas w14 (14/09/67) 30



wuunfm: upgrade

auldsunsudfunsatin vtinzaunladugnaauazuiiviles

Input Output
" |44444 A 11111 B+
22222 F 22222 D
- 11111 B+ 33333 C
SRR 66666 C 44444 A
55555 B 55555 B+
_| 33333 D+ 66666 C
) q
169808 — | 33333 22222 55555
upgrade

LEAINANNWD LI IAULAY
szandrnndaaludunn

2110101 3ernssumauiieas w14 (14/09/67) 31



ANSL3ENANALAANR: NTalaiuaiau

IFEAAUAINTANAU GAIUTALVINAY TUBEIMUMINRAY

x=[["a",9], ["Cc",1], ["A",1]]
x.sort() # x = [["a",1], ["a",9], ["C",61]]

IFEAIAUAINRAINAU GLVINAU TUIFEIMUAILTA

x=

[["A",9],

["C" ,1] ,

["A" ,1] ]

t =[]

for [al,a2] in x:
t.append([a2,al])

# £t =[[9,"A"], [1,"C"],

# t = [[1,"A"], [1,"C"],

for i in range(len(t)):

# X = [["A"I]']I ["C"I]']I

A5 98 G 11U LALFAUELULYIUY
[1’"A"]]

[ 9 , "A" ] ]
gausunudnay TiAuTudssiéu

x[1]1[0],x[1][1] = t[i][1],t[1][O]

["A" , 9] ]

2110101 3ernssumauiieas w14 (14/09/67)
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ALY LBEIANANURATIAINANULNIRAY

["ABC " , "ABCD 1A} , "XYZ " , "OK" ]
eI LE

["OK" , "ABC" , HXYZ LA , "ABCD "]

X = [ "ABC" , "ABCD " , HXYZ " , "OK" ]

t =[]
for e in x:
t.append([len(e) ,e]) 3R TUU LAUANNENIADE

# t = [[3,"ABC"],[4,"ABCD"], [3,"XYZ"],[2,"OK"]]
t.sort()
# t [[2,"OK"],[3,"ABC"], [3,"XYZ2"],[4,"ABCD"]]
for i in range(len(t)):

x[1] = t[1][1]
# x — ["OK"’ "ABC"’ HXYZ"’ "ABCD"]

2110101 3ernssumauiieas w14 (14/09/67) 33



wuudniia: Ialalndaaditfiaidudususu

points
for k

d
X

y

in range (n) :

n = int(input())

[]

input() .split ()
float (d[0])
float(d[1l])

ANUNARENY 9 LAUTREa&E

OO dDWNDN
O O O OO

AMNUA TUANARN LATUNUUaNTzacddanmLiia LuvinAuLRe

2110101 3ernssumauiieas w14 (14/09/67)
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List &S String 698l split & join

"ABC DEF GHI JK".split()

e

["ABC" , "DEF" , "GHI LA , "JK"]

&

vv.n ] jOin( ["ABC" . "DEF" . "GHI" ) "JK"] )

e

"ABC, DEF, GHI, JK"

2110101 3ernssumauiieas w14 (14/09/67) 35



split wanansvaantidudse

e X = s.split() - -
- uanandv s aantiusiu q latdud«e (LLEIﬂG\')EI?ja\‘)'J'N)
-s = "11 2 33"

- s.split() 'la ["11", "2", "33"]

e X = s.split( sep )

- uan&ndv s aantusiu q letdud«s 1af sep tiludiuan

- s = "11:2: 33"

_ S.Split(":") VLG]V ["11"’ "2"’ " 33"]
"a’ , ’b".split("’") vLﬂV ["a", "", "", "b"]
"a b" . Split(" ") vLﬂV ["a" , vww , vww , "b"]
"g b". Spllt () VLﬂV [nan , nbn]
"a,,,b".split(",,") vLﬂV ["a", ",b"]

2110101 3ernssumauiieas w14 (14/09/67) 36



join U&MIV TURRGUIRANY

e s = sep.join( x )
— sep ilu string
— x Lilu list of strings

- sep. join (x) 'lawalilu string N&FI91NA1TUN string
usiayeilu x usadu 1audl sep Liludiau

x = ["A", "BC", "DEF", "GH"]

sl = "[\".join(x) # "A BC DEF GH"

s2 = "|,".join(x) # "A,BC,DEF,GH"

s3 = "><".join(x) # "AS<BC><DEF><GH"

2110101 3ernssumauiieas w14 (14/09/67) 37



MIaeNg:

= [_1'0’3’300'_2'39’50h12'400'_100]
IRanLRzuaEIaNalu x LawIziida 0 §9 255
= []

if 0 <= e <= 255:
y.append( str(e) )
# y — ["0", "3"’ "39"’ "50", "12"]
print( " -> ".join(t) )

0 ->3 -> 39 -> 50 -> 12

2110101 3ernssumauiieas w14 (14/09/67) 38



LUURNAWE: Collatz Problem

n = int (input())
while n !'= 1:

if n%2 == 0: . =
281N3731 N tdauwiag
n //= 2 | ~ &
e lsaunanenilu 1
else:

n = 3*n + 1

input output
10 >  |10->5->16->8->4->2->1

2110101 3ernssumauiieas w14 (14/09/67) 39



AAAITILIV: NNSLLA LARFE A TUIVIU

x = 1[1,1,2,3,1]
for e 1in x:

3auﬁ 1 x
3auﬁ 2 X
3auﬁ 3 x
’iElfIJ‘Vdi 4 x

X

1f e ==
X .remove (e)

print (x)
= [1,1,2,3,1] l&a e
= [1,2,3,1] o e
= [1,2,3,1] o e
= [1,2,3,1] Ta e

[2,3,1] Ale

l, x.remove(l)
2
3

l, x.remove(l)

2110101 3ernssumauiieas w14 (14/09/67)
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AAAITILIV: NNSLLA LARFE A TUIVIU

x = [1,1,2,3,1] 5 x = [1,1,2,3,1]
for i in range(len(x)): for 1 in [0,1,2,3,4]:
if x[i] == 1: if x[i] ==
x.pop (1) x.pop (1)
i=0,x=11,1,2,3,1] x.pop (0)
i=1, x=1[1,2,3,1]
i=2, x=1[1,2,3,1]
i=3, x=1[1,2,3,1] x.pop (3)
i=4, x = [1,2,3] 199 L3N x[4]

2110101 3ernssumauiieas w14 (14/09/67) 41



AAAITILIV: NNSLLA LARFE A TUIVIU

X =
i =

[1,1,2,3,1]
0

while i < len(x):

if x[1] ==
x.pop (i)

i+=1

print (x)

x=11,1,2,3,1]
i=0
while i < len(x):
i1f x[1] ==
x.pop (i)
else:
i +=1
print (x)

l.l. l.l. |.l. |.l.

Or X = [111121
1, x=1[1,2,3,
2/ X = [11213/
3, x=1[1,2,3,

x = [1,2,3]

y 1] x.pop (0)

x.pop (3)

2110101 3ernssumauiieas w14 (14/09/67)
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AAAITILIV: NNSLLA LARFE A TUIVIU

x = [1,3]
for e 1in x:
1f e ==

X.insert (0, 9)

sauﬁ 1l x=1[1,3] Ta e =1, x.insert(0,9)

s0uf 2 x = [9,1,3] 16 e = 1, x.insert(0,9)

souUft 3 x = [9,9,1,3] 16 e = 1, x.insert(0,9)

soUft 4 x = [9,9,9,1,3] I e = 1, x.insert(0,9)
ﬁ’]ﬂ’]%vl&j‘g%é‘c{ﬂ

1 P~ 6
a3yl adunludaaniglulsiniag

2110101 3ernssumauiieas w14 (14/09/67) 43



ALNALLA LAAFANETUINIU = FINIIARE L1AU

x = [1,1,2,3,1] x = [1,1,2,3,1]
for e i1n x: vy = []
i1f e == for e 1n x:
X .remove (e) - if e '= 1:
print (x) Yy . append (e)
x[:] =y
x[:] AadiAuludas x dousenadiounge
X[:] = y Aa copy Aayalu y ldiAuludas x (X wae v tluauasdss)
X =y vinlvsunds x Mliudnfendudss y
x = [1,3] x = [1,3]

for e in x: v[:] = x
if e == 1: -for e 1n X:
X.insert (0,9) i1f e ==

y.insert (0, 9)

2110101 Jenssumaniitaas Wi« (14/09/67) 44



AL e U A2

AAIMIAINTIUAAUNILORAS
IRINTAN K INENAE
©&E Dl



o Lagla built-in function vuaraReAAULR

— print("Hello"), input(), len(x), round(2/3, 2), abs(-2),...
o JaudurdtuianLmininisvineuilugiu 4
o AylaWuAule sinvg

— daWeAtu, dayanisdadelvivedtu, nanlaarniarddu
e maeng: print( x )

— x Hurdayawuuls 9 A'ls

— Lifinaddunduarnfeddu (1515900 dau a = print(3/5))
e Magnd: round(x,d)

— x Wudwiy, d dudrundnnavananaiian

— wanladdaiiuiuasy x NHNIUR§IneNAAINUA

12w round(2/3,2) 16 0.67 J9indiau a = round(2/3, 2)
— u3a print( round(2/3, 2) )

2110101 3ernssumauiieas w14 (14/09/67)



wWaaauwsn: hello

def hello (name) :
print (""Hello", name)

BLACKPINK = ["Jisoo", "Jennie", "Rosé", "Lisa"]
for e in BLACKPINK:

hello( e )
Hello Jisoo Auay e A& 1UTWAILLS name
Hello Jennie 2129W9AizU hello
Hello Rosé wa2enan131inulalf hello
Hello Lisa vinAgvlulvAuLas AnduNvinga

2110101 3ernssumauiieas w14 (14/09/67) 4



WanaruniledandnWandun'le

def hello (name) :
print ("Hello", name)

def hello all(names) :
for e in names:
hello (e)

BLACKPINK = ["Jisoo0", "Jennie", "Rosé",
hello_all( BLACKPINK )
hello all( ["Joe", "John", "Kong"] )

"Lisa"]

Hello
Hello
Hello
Hello
Hello
Hello
Hello

Jisoo
Jennie
Rosé
Lisa
Joe
John
Kong

2110101 3ernssumauiieas w14 (14/09/67)




LUURNAVR: udagagls ?

def printl (a):
for e in a:
print (e)

def print all(a):
for e in A:
printl (e)

print—all ( ["A" , ["AB" , "C"] ] )
print all( ["ABC"] )

2110101 3ernssumauiieas w14 (14/09/67) 6



LULRN AR LARILIALRUS U

bin (x) :
Return a binary string prefixed with "0b" constructed from an
Integer x

int (x, base):
Return an integer constructed from a string x in the specified base
(default is 10).

udiaulilsunsusudunudulugdsiugas 2 3w

avnNawnLaziaadtuslg1usas 1aala built-in
fuctions bin U int 219uuUil

Input Output
100101 11001 :> 111110

2110101 3ernssumauiieas w14 (14/09/67) 7



avAlsenavuaIWefifu

fata ity F8A5URIWITILH AT
i J, n1sianladWenfu
def dot( u, v |) : a=1[1,2,63]
'p =0 b =1[1,3,6]
| for i in range (len(u)) : dl = dot(a, b)
p += ul[i]*v[i] d2 = dot(a, [1,3,2])
retﬁfn 12 print( 2*dot([1,2,3],b) )

FuAITvinuaaIrvAtu aduldvinousaneizan
Worau wasdofunaannwantulvinizan'leasae

siadtiiadAdavivriala TuweAa2zuldnivanTvesyau
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dudsaraluratuletduuasWaadtuiiy

o WITiteasuazatlstunAatula
— fiaghAuaIRI AT udule
— Funldduis Maslureddudulale

def read data():
d = []
for 1 in range(int(input())):
d.append (int (input()))
return d

def get mean(d):
return sum(d)/len(d)

# ___________________________________________
def get median(d):

d.sort ()

n = len(d)

return (d[(n-1)//2] + d[n//2])/2

2110101 3ernssumauiieas w14 (14/09/67)



WAL AT UAaNRNAKLTaNNIAAU

def distance(xl, yl, x2, y2):
dx = x1 - %2
dy = yl1 - y2
d = (dx**2 + dy**2)**0.5
return d

. fdluleAtuBuvineIu Wafidgeausanld (LudunLivin)
. Mdu3en davdvranalifunisdnasuasieddu

dl = distance(10.5, 12.0, 30.0, 50.5)

x = 10.5; y = 11.2

d2 = distance(x, ¥, 30.0, 50.5)
. amdluivAtuisuvineu da'lsiaaitwisfiwasiana)

def distance(xl, yl, x2, y2):
xl = float(input()) # uian !

2110101 3ernssumauiieas w14 (14/09/67) 10



return: AulaKaIaAIA'lE

# roots of ax**2 + b*x + ¢ =0
def roots(a, b, c):

t = (b**2 - 4*a*c)**(0.5

rl (-b + t)/ (2*a)

r2 (-b - t)/ (2*a)

return [rl,r2]

x1l,x2 = roots(6, -6, -36)
print (x1,x2)

def get odds( x ):
odds = [] vsaldn1sAUd6EA L6
for e in x:
if e%2 == 1:
odds . append (e)
return odds

2110101 3ernssumauiieas w14 (14/09/67) 12



v al

return : AUNITYVINIUNRLFELIEIN

U

o 12f@&9 return wag 9
e 132 'l1A avinoudvAdeavagauaIwaAu
AR an1sAUNI5YINIIU

def hello (name) :
print ("Hello", name)
return

def hello (name) :
print ("Hello", name)

def hello (name) :
if name == "":
return
print ("Hello", name)

2110101 3ernssumauiieas w14 (14/09/67) 13



1
ca v a

TuAunanid return waA lARRENHLTENRINN

def abs all( data ):
d = []
for e in data:
d.append (abs (e))
return d

x = [1,-2,3,-4,-5]
X = abs_all (x)
print( x )

def abs all( data ):
for k in range(len(data)):
data[k] = abs(datal[k])

x = [1,-2,3,-4,-5] |
abs_all(x) # fonaludse x 1/avu
print( x )

2110101 3ernssumauiieas w14 (14/09/67) 14



LUUHNAYR: 1937 + 1YLnTa + 1389 + LRAINA

[aulilsunsuatuaaauazdinauuadinzau (anaau)
AntuaNATMAzLUNAInauLasliitnsannau LA IAUINAN 16
Td3avanny darinasman1suaaINaane (QadatiNd)

fiMeriudavainTuaranwunie DitiauldsunsuniGanly
WeAddumarfilvivinouauisadnis (A 1dsunsuiisagidiau
JAd9'luvLAY 6 AFY)

Input Output
Qe — > | AAAAA 4444 100.0 A | | =
5 5555 80.0 A
AZLUUIAITN
o 1111 ABBEB :> 2222 80.0 A& ||, oo
Uﬂgﬁaﬂﬂaﬂ< 2222 AAAAB 3333 60.0 C
UALEU 5 AU ) | 3333 AAABB 1111 20.0 F |V
4444 AAARA
_| 5555 AAAAB

2110101 3ernssumauiieas w14 (14/09/67) 15



LUURAYE: vinaudn lavAduLvia il

def read answers():
N = int (input())
answers = []
for k in range(N) :
sid, ans = input() .split()
answers.append([sid, ans])
return answers

def marking(answer, solution):

p=20
for i in range(len(answer)):
if answer[i] == solution[i]:

p +=1
return p

def grading(score) :
g=1[[80,"A"], [70,"B"], [60,"C"], [50,"D"]]
for a,b in g:
if score >= a:
return b
return "F"

2110101 3ernssumauiieas W4 (14/09/67) 16




LUURAYE: vinaudn lavAduLvia il

def scoring(answers, solution):

scores = []

for [sid, ans] in answers:
score = marking(ans, solution) / \

len(solution) * 100

grade = grading(score)
scores.append([sid, score, grade])

return scores

def report(scores):
for [sid,score,grade] in scores:
print (sid, grade)

def sort(scores):
x = []
for [sid,score,grade] in scores:
x.append([score, sid, grade])
x.sort ()
for i in range(len(x)):
scores[i] = [x[1i][1], x[1][0], x[i][2]]

2110101 3ernssumauiieas w14 (14/09/67) 17



AAAIFTILII: ALNLLA LUAAIAAININHLAATAHIE =

def £f1 (x):
# s x wapuan wedidsigsan laidfou
x =0

def £f2 (x):
# s x wasuan weduysnssan ladfeu
x = [0]*1len (x)

def £3(x):
for i in range(len(x)):
@ x[i] = 0 # dudsfigeaunfilasudne
a=9
f1l (a) # a idouULAN
b = [1,2,3,4]
f2 (b) # b VidoULAN
£3 (b) # b 1aou

2110101 3ernssumauiieas w14 (14/09/67) 18



ANNAAWRIATIWLL AL

def hello (name) :
print ("Hello", name)

def double (u): L
return 2*u wuutl x decilu None

«— (None 1flusnvitamewilslu Python)

x = hello("Bell") #  Ludnadun waddISuNa
double( [1,2,3] ) # Auwaue HT65UNA

def clip(x):
if x < 0:
return 0
X += 2 # S NG return
return x

def is odd(x): # UNNIEAUAT LN INAL
1f x%2 == 1: return True

2110101 3ernssumauiieas w14 (14/09/67)
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def

is odd(n):
if n%2 ==

return True
else:

return False

def

foo(n) :
i1f n%2 ==

return 3*n+l
else:

return n//2

=)

2110101 3ernssumauiieas w14 (14/09/67)

=)

def is odd(n):
return n%2

def foo(n):
i1f n%2 ==
return
return n//2

3*n+1

20



LULN AR 52EETEUINIAARAIA

def distance(xl, yl, x2, y2):
# UIMITUZVNNITAINNIA (x1,yl) AU (x2,y2)

d = distance(l, 1, 4, 5)
print (d)

2110101 3ernssumauiieas w14 (14/09/67) 21



LUURNAVR: udagagls ?

def f (x):
return 2*x

def g(x):
return x+5

def h(x):
return x//2

x =4

y = f(g(h(x)))
print(x, "-->", y)

2110101 3ernssumauiieas w14 (14/09/67) 22



LUUHNAKA: BW1ANWIURWIZAILTANTAIUIANIN N
Input Output

12 > [13
43 :> 47

def is prime(n):
if n <= 1:
return False
for k in range(2,n):
1f n%k ==
return False
return True
def next prime(N) :

2110101 3ernssumauiieas w14 (14/09/67) 23



String and File Processing

AAIMIAINTIUAAUNILORAS
IRINTAN K INENAE
©&E Dl



NUMUBAIRGE9

s = "I'm a string"

t = 'I said "This is a string".'
chars = input()

c =20

for ch in chars:
i1f ch in s:
c +=1
for i in range(len(t)):
if t[1i] 1in s:

c +=1
r = "n
for k in range(2,10,2):
r += str (k) # 2468

r = 2*r # 24682468

2110101 3ernssumauiieas w14 (14/09/67) 3



LuuHnAa: tanwal > WP

LLULNE €
- A9YiNE'S, X, 3a ch - LAY es aang

- 9vine y weedaau y luldasy = wllau y iy ies
- anliasvAun&avainvuul > AN S Gavine

Input Output
fox :> foxes
memory :> memories
mouse :> mouse

2110101 3ernssumauiieas w14 (14/09/67)



Espresso, Macchiato, Ristretto, Americano, Latte, Cappuccino, Mocha, Affogato

x = input() .split(", ")
out = []
k=0

for e in x:
out.append((s+" "*12)[:12]
k += 1
if k $ 3 == 0:
print ("".join (out))
out = []
print ("".join (out))

Affogato Americano  Cappuccino
Espresso Latte Macchiato
Mocha Ristretto

2110101 3ernssumauiieas w14 (14/09/67)



MEUANISANETILE MTIFIILEEL
NSUAIUALLAMEL

S1UvIUamMuUMsSnla:AUMWaINIAUS: MY

import urllib.request

def find(s, start, c):
for i in range(start, len(s)):
if s[1] == c¢: return 1i
return -1

url = "http://air4thai.pcd.go.th/services/getNewAQI XML.php?stationID=52t"
web = urllib.request.urlopen (url)
for line in web:
line = line.decode()
if "<PM25 value=" in line:
i = find(line, 0, '"'")
j = find(line, 1i+1, '"')
print ("PM 2.5 =", line[i:j])
break

2110101 3ernssumauiieas w14 (14/09/67)



anuseNLAl (Escape Characters)

s = "Hello"
print (s) # Hello
s = "N"Hello\""
print (s) # "Hello"
s = "\'Hello\'"
print (s) # 'Hello'
s = "\"\'\\Hello\\"
print (s) # "'\Hello\
s = "Hello\nPython" # Hello
# Python
N §5a ¢ \n da sWalviduussiialua
\v ﬁa '

\\ Aa \

2110101 3ernssumauiieas w14 (14/09/67) 7



miaeng: wnu "'/ \ (), . ; fdrauadiig

def blank(t) :

result = ""
for ¢ in t:
if ¢ in "\"\' /\\ REREAL

result += "
else:

result += c
return result

2110101 3ernssumauiieas w14 (14/09/67)



U3N19UAIRMY : String Methods

01234567890123
s =" Hello World "
— len(s) 16 14, len("")18 0
~ s.lower () 168 * hello world "
— s.upper () 16 " HELLO WORLD "
— s.strip() 16 "Hello World"
— s.find ("o") 16 6 s.find ("ex") 'l¢ -1
— s.find("o",7) 16 9

2110101 3ernssumauiieas w14 (14/09/67) 9



AIatNd: A9 lavU

t = input() .strip () # losnunsoidldinaena space
if t.upper () '= "YES": # a99lév4 Yes, ves, ...
J = t.find("mailto:")
if § >= 0:

j += len("mailto:")
k = t.£find("Q@", 3Jj)
if k >= 0:

username = t[j:k]

S A

j_ .k

> ]

<a href="mailto:somchai@gmail.com">. ..

2110101 3ernssumauiieas w14 (14/09/67) 10



wUUHN NG : camelCase

camelCase tilusiuuunisidiaurdNlifivaIadssanau Taeindl
a9 q TR diaudniunue uatdaulvusasArdusdusranilnai
anLiutanwizansagatdudidnnuea (dtauaslituiiautéy)

Input Output

An example of "camel case". [:j> anExampleOfCamelCase

Emergency call 911 [:i> emergencyCall9ll

2110101 3ernssumauiieas w14 (14/09/67) 11



MEOMANISANIT WS ITIFlEEL
NSUAIUALLAEY

S1IvIUaMuUMSaUla:AcUNMWaINMAUS:INAMNY

import urllib.request

web = urllib.request.urlopen(url)
for line in web:
line = line.decode()

pattern = '<PM25 value="'
i = line.find(pattern)
if i >= 0:

i += len(pattern)

j = line.find('""', 1)

print ("PM 2.5 =", line[i:j])
break

url = "http://air4thai.pcd.go.th/services/getNewAQI XML.php?stationID=52t"

2110101 3ernssumauiieas w14 (14/09/67)
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def split(t, s):

x = []

kO =0

k = t.£find(s,0)

while k >= O0:
x.append (t[kO0:k])
kO = k+1
k = t.find (s, k0)

x.append(t[kO0:])

return x

2110101 3ernssumauiieas w14 (14/09/67)
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Method Chaining vs Function Composition

math.radians (d)
math.sin (x)

abs (s)

round(y, 2)

R 0 X
i1

r = round(abs (math.sin(math.radians(d))), 2)

linel = input()

line2 = linel.strip()
line3 = line2.upper|()

i = line3.find ("OK")

i = input() .strip() .upper () .find("OK")

2110101 3ernssumauiieas w14 (14/09/67) 14



AAAIFTLIV

. Wnldsuanalugnsg
~s[2] = "a"
- s[3:7] = "=-%o*-"
e string methods itlasudIanse
_ s = "HellO"
~ s.lower() 16 'hello' w6 s LAUAILAN 'HellO'

o uentd@auargdatAuluarinus'le
— s = "Hello"

- s = s.lower () wuuufl s tAUAIINYN "hello"

2110101 3ernssumauiieas w14 (14/09/67) 15



MIaeNY : rot-13

M\
| 5SEE TREES OF GREEN V FRR GERRF BS TERRA

RED ROSES TOO ERQ EBFRF GBB
| SEE EM BLOOM V FRR RZ 0YBBZ

FOR ME AND FOR YOU : : SBE ZR NAQ SBE LBH

_ p—

AND | THINK TO MYSELF NAQ V GUVAX GB ZLFRYS
WHAT A WONDERFUL JUNG N JBAQRESHY
WORLD JBEYQ
N\
AlB|C[D|E[F[G[H[I\[J[K|L|M
EEREEEEEEEE
NOPQRSTUl\ViWXYZ
\V

2110101 3ernssumauiieas w14 (14/09/67) 16



MIaeNY : rot-13

def rotl3(txt in):
upper = "ABCDEFGHIJKLMNOPQRSTUVWXYZ"
alphabets = 2*upper
txt out = ""
for ch in line:
J = alphabets.find(ch)
if 5 '= -1:
txt out += alphabets[] + 13]
else:
txt out += ch
return txt out
line = input()
while line.strip() .upper() !'= "END":
print (rotl3 (line))
line = input()

ABCDEFGHI JKLMNOPQRSTUVWXYZABCDEFGHI JKLMNOPQRSTUVWXYZ
2110101 3ernssumauiieas w14 (14/09/67) 17



LUUNAWR: rot-13

UsuTdsunsulv 1inh/aaasialanivelidvngeidnuasivial

| see trees of green V frr gerrf bs terra

red roses too erqg ebfrf gbb
| see em bloom ﬁ V frr rz oybbz
for me and for you @ sbe zr naq sbe Ibh

And | think to myself Naq V guvax gb zifrys
what a wonderful world jung n jbaqgreshy jbeyq

end

2110101 3ernssumauiieas w14 (14/09/67) 18
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ANTaNUdayNLANLaAINU

uiluiia a1u

fin = open( filename, "r" )\{
line = fin.readline() |

"r" yaniile }

readline a1 unfiyuIsTNG
for line in fin: dn'ldinunilugasy
I

for LuUfl ANUNATUITVEG

ﬁ’ﬂ“l,ﬂﬁ‘]yam%o‘laiﬁmﬂs line
52URLWTIUTIVIA AUuNUALNY

fin.close ()
-

N
LRNATULLAN
v oA o/
wadAtlauwy

2110101 3ernssumauiieas w14 (14/09/67) 20



ALY WIALSLUULRAUNRG 3 Aauttsn Uy

sum points = 0; n = 3

infile = open("data.txt", "r")
for k in range(n):
line = infile.readline() # ajluussiadalil
X = line.split()
sum points += float(x[1])
infile.close()

print ("Average =", sum points/n)

x[0] x[1]
data.txt| 6230012121 90 Average = 83.0
6230351221 80
6231027921 79
6230548121 70

2110101 3ernssumauiieas w14 (14/09/67) 21



ALY 2N ULWUAZLUUNUFAILIENNIIANIANUDE

students = []

infile = open("data.txt", "r"

for line in infile: # a1UTAURTUITNAAUNUALWN
sid,point = line.strip() .split()
point = float (point)
students.append([point, sid])

infile.close()

students.sort () # Bavanndaaldunneuasuuy

for [point,sid] in students[::-1]:
print(sid, point) 6230012121 90
6230351221 80

6231027921 79
data.txt| 6230548121 70

2110101 3ernssumauiieas w14 (14/09/67) 22



LUUHAe: WasiuullauaIdgauIdnau TuL iy

Input Output
data.txt 2562 ) |Average = 84.6
data.txt 2559 [:i> No data

data.txt | 6230012121 90
6130351221 80
6231027921 79
5830548121 65
6031087221 70
6230550321 72
6230432721 87
6230215221 95
6130518321 72

2110101 3ernssumauiieas w14 (14/09/67) 23



AstuNnnzayaasuluanIu

fout = open( filename, "w" )

"w" uaniile
wAuLNe Laeu
fout.write ("First line")

write U9TNa &6
aavinaTuwy

fout.write ("Text\n")
o M
ChNARERINSIEERD
fout.close () Tueasls \n Ltav
Wua (~4 v\ /
HUNALRTALRD
Atla iy

2110101 3ernssumauiieas w14 (14/09/67) 24



fIaeNg: duna Triangular Number sagaaiaatiu

fout = open("tri numbers.txt", "w")
for k in range(1,101):
n = k*x(k+1)//2 # triangular number
fout.write(str(n)+" ")
if k%10 == O: # Asu 10 6 duussiinln
fout.write ("\n")

fout.close ()

1 3 6 10 15 21 28 36 45 55

66 78 91 105 120 136 153 171 190 210

231 253 276 300 325 351 378 406 435 465

496 528 561 595 630 666 703 741 780 820

861 903 946 990 1035 1081 1128 1176 1225 1275
1326 1378 1431 1485 1540 1596 1653 1711 1770 1830
1891 1953 2016 2080 2145 2211 2278 2346 2415 2485
2556 2628 2701 2775 2850 2926 3003 3081 3160 3240
3321 3403 3486 3570 3655 3741 3828 3916 4005 4095
41860 4278 4371 4465 4560 4656 4753 4851 4950 5050

2110101 3ernssumauiieas w14 (14/09/67) 25



LuUinEe: &vulunilu rot-13 aagdnudy

| see trees of green V frr gerrf bs terra

red roses too erq ebfrf gbb

| see em bloom V frr rz oybbz

for me and for you :> sbe zr naq sbe Ibh
And | think to myself Naq V guvax gb zlfrys
what a wonderful world jung n jbaqreshy jbeyq

data. txt rotl3. txt

2110101 3ernssumauiieas w14 (14/09/67) 26



Dict

AAIMIAINTIUAAUNILORAS
IRINTAN K INENAE
©&E Dl



list AU dict

o list: tAudiayatdusranisizavainaa 'l
o Tafdnurutautiludrszusiune Tunsladdayalu list

X = ["MO" , (A TU" , "WE" , "TH" , " FR" , LA SA" , LA} SU"]

1r 1 1
x[2] x[4] x[-1]

o dict: \Aurianatilua 9 key: value

o 1o key \Huesey value Misiasnslu dict
(key \1u'léy int, float, str, ...)
d [ "WE " ]
JL
d — {"MO" : quv, "TU" : "a"’ "WE" : "W",
"TH" : "Wq", "FR" : "ﬂ", "SA" : "a", "SU" : |1 a’] "}
LT r
d["TH"] d["SA"]

2110101 3ernssumauiieas w14 (14/09/67) 2




dict tiliau mapping function

grade = {"6130186221": "A", "6230221221": "A",
"6231009821": "B", "6230543921": "C",
"6230431521": "B", "6230276821": "A"}

keys vinnanAu
values aihAu'le

"6130186221"
"6230221221"
"6231009821"
"6230543921"
"6230431521"
"6230276821"

key value
(domain) (range)

2110101 3ernssumauiieas w14 (14/09/67) 3



1 key iU dict wa? 16 value

v = grade["6231010621"]
Key value

grade = ("6130186221": "A", "6230221221": "A",
"6231009821": "B", "6230543921": "C",
"6230431521": "B", "6230276821": "A"}

ID = input()
while ID != "q": g 12@ eiA LaifiaeiTu dict
print (ID, "-->", grade[ ID ]) ALNAANUAANAA
ID = input()
Input output
6231009821 6231009821 --> B
6130186221 6130186221 --> A
6230221221 6230221221 --> A
i auealui key 'l value
lifinuulii value 16 key .

2110101 3ernssumauiieas w14 (14/09/67)



ANSLAN/ANSLU R value Tu dict

[grade["6231010621"] = "A"}
grade = { }
grade["6231010621"] = "A" ¥ {"6231010621": "A"}
grade["6231009821"] = "B" ¥ {"6231010621": "A",

"6231009821": "B"}

grade["6231009821"] = "C" # {"6231010621": "A",
"6231009821": "C"}

2110101 3ernssumauiieas w14 (14/09/67) 5



ANSLAN/ANSLU R value Tu dict

Input

grade = { } # dict 77v 4 R
6130186221 A | LWH

_ 6230221221 A Lﬁu
for k in range(n): 6231009821 F | Y

ID, g = input() .split() 6231009821 B | 13l&fu
grade[ ID ] =g

n = int(input())

print (grade)

Output
{'6130186221': 'A', '6230221221': 'A', '6231009821': 'B'}

2110101 3ernssumauiieas w14 (14/09/67) 6



AatiNg: TUTKI6

BLACKPINK = ["Jisoo", "Jennie", "Rosé", "Lisa"]
votes = {} # &5 dict v
for name in BLACKPINK:
votes[name] = 0 # (W key: value Tvilu dict
# {"Jisoo'": 0, "Jennie'": 0, "Rosé'": 0, "Lisa'": 0}
Lisa
name = input () Lisa
while name '= 'q': Lisa
] ] . Lisa
1f name in BLACKPINK: | Jennie
votes[name] += 1 # WU value Aum
name = input () Jisoo
Lisa
q
for name in BLACKPINK:
print (name, "-->", votes[name]) # ¥y value u1l2

2110101 3ernssumauiieas w14 (14/09/67) 7



Q/

LUURNAVR: TUAINUIUADIAIDNARIUARALA

alphabets = "abcdefghijklmnopgrstuvwxyz"

Input | ABCabcABZ

Output| @ —> 3
-> 3

-> 3

-> 1
2110101 3ernssumauiieas w14 (14/09/67) 8
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for each key in a dict

for k in dic:

if k == t: > v = dic[t]

v = dic[k]

2110101 3ernssumauiieas w14 (14/09/67) 9



for each _key in a _dict

laaadnN1Tniu key upazalraanui iy

~edie=1—— {("first": 1, "second": 2, "third": 3,
for k in dic: "fourth": 4, "fifth": 5, "sixth": 6,
it k == "seventh": 7, "eighth": 8,
v = diclk] "ninth": 9, "tenth": 10 }
v = dic[k] _ : tenth --> 10
soxz—n~ey—d4N Oordinal:

second --> 2
print (key, "-->", ordinal[key] )| fourth --> 4

third --> 3

dadoinam: key lean |Sixth --> 6

for fideu'lyuuuay ninth --> 9
seventh —--> 7

a1 run Tusunsufiaaa Python 3.7 ag'la key isavaiunay e:l.ghth --> 8

&519 ue lususlsedurrwadnssuasiiuuvyidlusuda 9 12/ fifth --> 5

(Python 1u Grader Mifluuyuiilaa16u laiusiuay) first --> 1
2110101 Fennssumanfiiinas 3w (14/09/67) 0




Araeing: WaaAurIAILR a9 value U dict

def average( d ): # d \dlu dict d value \fudruru
total = 0
for key in d: # uunfiunn key unla
total += d[key]

return total / len(d) len(d) AaIaUIUA
key:value 1u dict d

gpa = {"6130186221": 3.15, "6230221221": 2.85,
"6231009821": 2.90, "6230543921": 3.20,
"6230431521": 3.35, "6230276821": 3.42}

print( average(gpa) ) # 'l6 3.145

2110101 3ernssumauiieas w14 (14/09/67) 11



LULEANe: dadrvniafu

def reverse( d ): # d ilu dict MidszAuin value “©aigi Ay
r ={}

{ "A" o " l,a LA , "B" O "ﬁ" , "C" o Hsii" }

oN1e
=

ﬁu { "l’a" : "A" , "ﬁ" : "B" , "Gfi" : "C" }

return r

def keys( d, v ): # Audasiuag keys 7f value windu v

x = []
4d =|{ 2:33, 4:55, 9:33, 7:33, 8:55 }
v = 33
AU [ 2, 7, 9 1

return x

2110101 3ernssumauiieas w14 (14/09/67) 12



if key in dict 32 if key notin dict

flaaens g key wia'laufl key Tu dict 1nu ?

grade = {"6130186221": "A", "6230221221": "A",
"6231009821": "B", "6230543921": "C",
"6230431521": "B", "6230276821": "A"}

ID = input() d11Unfu value 2a9 key aifilu dict
while ID !'= "q": AZVIIIURANAIG 96 aINaFgaLnNaU
if ID in grade:
print (ID, "-->", grade[ ID ])
else:

print ("Not found")
ID = input()

2110101 3ernssumauiieas w14 (14/09/67) 13



if key in dict vinouLsINI if elem in list

import time n = 50000
def search all (X): L =]
b = time.time () for i in range(n):
n = len (X) L.append (i)
for i in range(n): D = {}
if i in X: # True for i in range(n):
pass D[1] = 1

for 1 in range(n):
if (n+l) in X: # False | |search all(L)
pass search all (D)

print (time.time () - b)

ANsAUTU dict
Z9n7 list 40.90408134460449

0.0156097412109375

1] —] ﬂ v duiulii

2110101 3ernssumauiieas w14 (14/09/67) 14



wuuilnie: datauagls Aaxsyag'ls

dauldsunsy Suzalsoudnsiatay
Suffalduusneiiaase teala dict

Robert <~ Dick
William < Bill
James <~ Jim
John < Jack
Margaret <~ Peggy
Edward <~ Ed
Sarah & sally

Andrew @p://\ﬁmdgt.kvoto—su.ac.ip/"‘trobb/nicklist.htmI

2110101 3ernssumauiieas w14 (14/09/67) 15


http://www.cc.kyoto-su.ac.jp/~trobb/nicklist.html

AatiNg: TUTKI6

BLACKPINK = ["Jisoo", "Jennie", "Rosé", "Lisa"]

votes ={"Jis00":0, "Jennie":0, "Rosé":0, "Lisa":0}

name = input ()
while name !'= 'q':
if name in BLACKPINK:

votes[name] += 1 :
_ Lisa
name = input() Lisa
, Lisa
for name in BLACKPINK: <. | Lisa
_ Ny Jennie
print (name, "-->", votes[name]) Aum
i Jisoo
n72331n key Tu votes A'la 7 - .
_ . Lisa
ufiiuan key Tu votes A'la q

(quindn'lil)

2110101 3ernssumauiieas w14 (14/09/67) 16



Mating: Hulwia (Idaudnuuy)

votes = {"Jiso00":0, "Jennie":0, "Rosé":0, "Lisa":0}
name = input()
while name !'= 'q':
if name in votes: asyanaudiudarignsas
votes[name] += 1 LRIADELLWNALLLUU
name = input() :
Lisa
Lisa
for name in votes: Lisa
print (name, "-->", votes[name]) ELEEL
Jennilie
Aum
Jisoo
Lisa
g9

2110101 3ernssumauiieas w14 (14/09/67) 17



fnating: Tulwe (wuuiunnia)

votes = {} |
15113571 agfitialasiing
. Asavaruly &35791d wWu'ld
name = input()
while name !'= 'q':

if name in votes:

votes[name] += 1 # dudianfiatiud) AN 1 ASULUY
else:
votes[name] = 1 # idudaluvy W 1 azuuu

name = input () Lisa
Lisa
Lisa
for name in votes: Lisa

print (name, "-->", votes[name]) Jennie
Aum

Jisoo
Lisa

2110101 3ernssumauiieas w14 (14/09/67) g9 18



LUURNAVG: aaaaneladgnau

Input Output
[ 5 Total ice cream sales = 725.0
Magnum 50
e Cornetto 25
PaddlePop 15
AsianDelight 20
_ | Calippo 15
(19 RARAUNE =
Magnum 5 5x50 +
Cookie 4
MamaTomYum 3
A1UIU J |Cornetto 5 5x25 +
A El AsianDelight 4 4x20 +
Calippo 4 4x15 +
Cornetto 6 6x25 +
MangoSheet 4
. |[Calippo 4 4x15 = 725

2110101 3ernssumauiieas w14 (14/09/67) 19



eiNANAIY
d (flu dict, e iilu key x 1iu list, e tfluriaya
if e in d : |23 if e in x : 2
k = x.index(e) .

k tiusnuiutéu
z 157 x[k] = z 157

d[e]

z = d[e] 157 z = x[k] 157

2110101 3ernssumauiieas w14 (14/09/67) 20
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Nested Structures

AAIMIAINTIUAAUNILORAS
IRINTAN K INENAE
©&E Dl



More Data & Flow Controls

3auldua? A URa Ll
int, float, tuple, set,
str, bool list, dict,
list, dict numpy array,
class/object
if-elif-else nested loop
while comprehension
for recursion
break
function

2110101 3ernssumauiieas w14 (14/09/67) 2



Nested Loops: while 2iau while

while Cl:

E1 El

2110101 3ernssumauiieas w14 (14/09/67) 3



GIAENY: K NIU. DIINUIULANKRNE 9 A

X = input() .split()
while x[0] '= 'qg':
a,b = int(x[0]) ,int(x[1])
while b !'= 0:
a,b=Db, a%Db

print (a)
X = input () .split()
5 8 ::$> 1 a b
143 65 13 143 65
q 65 13
13 O

2110101 3ernssumauiieas w14 (14/09/67)



wUUN NG : Factorization

def factor (N) :

£ = 1] 18y vin'lusn'lalef
k = 2 for k in range (2, N+1):
while k <= N:

81 k ¥17 N Q961

A UNWIT N 6ia k

au k ‘Laiilu factor uas N

LN k LRSANUIUATINUNS TRTU £

k += 1
return £

N =200, k =2, N =200 > 100 > 50 > 25
N =25 k=3

N =25 k=4

N=25 k=8, N=25>5>1

f = [[213]1 [512]] 200 = 23°52

2110101 3ernssumauiieas w14 (14/09/67) 5




Nested Loops: for 2iau for

Cone
4<: 0.1, .. N-1 for k in range (N):

= El

2110101 Jernssumauiitaas 3w (14/09/67) 6



M LN

for i in range(3):
for j in range(4):
print (i, 7Jj)
i 3 for i in range(3):
________ for j in range(i,4):
0 0 print(i, 3Jj)
1
> i . for i in range(3):
3 | |mmmm- for j in range(i+l,4):
1 1
i ]
: ;
3
> 0 11 .
1 2 WAL index aavg
5 3 NnAay U6
3 2 2
3

2110101 3ernssumauiieas w14 (14/09/67) 7



fnatng: WeAdunn prefix angauadsanIssmadv

programming
program
programmatic
programmer

j progressive
prognostics
prognosis
progestins

progradation

progovernment

—
i

2110101 3ernssumauiieas w14 (14/09/67) 8



fnatng: WeAdunn prefix angauadsanIssmadv

programming
program
programmatic
programmer

j progressive
prognostics
prognosis
progestins

progradation

progovernment

def longest prefix(words):
for i in range(len(words[0])):
c = words[0][1]
for j in range(l,len(words)):
if i >= len(words[j]) or \
c !'= words[j][i]:
return words[j][:1]

return words[O0]

—
i

2110101 3ernssumauiieas w14 (14/09/67)




datg: WaAnuasIAtaNaiAUTUR6

def has duplicate( x ):
for i in range(len(x)-1):
for j in range(i+l, len(x)):
if x[i] == x[]j]:
return True

return False

REUATIANNA

P 4 21 3
0 1 A A
2
3
1 2
3
2 |3

2110101 Smnssumaniiomas 3 (14/09/67) nunee : Aalasamnudidaunfaunediunn
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fAaating: Pairwise Coprime

* Asetof integers can be called coprime ifits |21 15, 35
elements share no common positive factor

3x7 3x5 5x7

except 1.
* A stronger condition on a set of integers 21, 10, 121
IS pairwise coprime, which means 3x7 2x5 11x11

that a and b are coprime for every pair (a, b) of
different integers in the set.

 The set {2, 3, 4} Is coprime, but It IS not
pairwise coprime since 2 and 4 are not
relatively prime.

2110101 Srnssumantiawaas 3+ (14/09/67) https://en.wikipedia.org/wiki/Coprime _integers 1



https://en.wikipedia.org/wiki/Coprime_integers

fAaating: Pairwise Coprime

def gcd(a,b):
while b !'= 0:
a,b = b, a%b
return a

def is pairwise coprime( d ):
for i in range(len(d)-1):
for j in range(i+l, len(d)):
if ged(d[i],d[]3]) '= 1:

return False
return True

2110101 3ernssumauiieas w14 (14/09/67) 12



wuuine: Primitive Pythagorean Triple

e Pythagorean triple: SuiuLéiu a, b uag c 7

az + b?2=c? au (3, 4, 5) 57 |3
e &1 (a,b,c) tilu Pythagorean triple
(ka, kb, kc) Adludre Taav k = 1,2,3,4,..

e 1516129015 Primitive Pythagorean triple Aa
Pythagorean triple (a,b,c) 7 a,b uay c ilu
coprime (Aafl .5.4. 1ilu 1)

o a9idaulisunsunn Pythagorean triple @17
a<b<c<Miaan M Aa input tau 1M = 20

AV L6

2110101 3ernssumauiieas w14 (14/09/67)

[31 4[ 5]’ [51 12[ 13]/ [81 15[ 17]

https://en.wikipedia.org/wiki/Pythagorean triple

13


https://en.wikipedia.org/wiki/Pythagorean_triple

wuuine: Primitive Pythagorean Triple

def gcd(a,b):
while b '= 0:
a,b = b, a%b
return a

def is coprime(a, b, c):

2?7
def primitive Pythagorean triple( M ):

triple = |[]

for ??? in range( 22°? ):

for ??? in range( 22°? ):
for ??? in range( 22°? ):
2?7

return triple

2110101 3ernssumauiIeas AW ——rvorory
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einenvYuAuTulydaucfluloniu

def is pairwise coprime(d):
for 1 in range(len(d)-1):
for j in range(i+l, len(d)):
a,b = d[i],d[]]

while b '= 0:
a,b = b, a%$b
if a !'= 1:
return False def ged(a,b):
return True while b !'= 0:

a,b = b, a%b 12N Taden7I
return a

def is pairwise coprime( d ):
for 1 in range(len(d)-1):
for j in range(i+l, len(d)):
if ged(d[i],d[3]) '= 1:
return False
return True

15

2110101 3ernssumauiieas w14 (14/09/67)



einenvYuAuTulydaucfluloniu

count = 0

t = input()
c =0
for ch in t:
if "O" <=
c += 1
count += c
print (count)

n = int(input())

for k in range(n) :

ch <= "9".:

Qw  Q

ULMIILAAAINNUDYA
NREUTTNG

2110101 3ernssumauiieas w14 (14/09/67)

def count digits(s):
c =20
for ch in s:
if "0" <= ch <= "9":
c += 1
return c

n = int(input())
count = 0
for k in range(n):
t = input()
count += count digits(t)
print (count)

16



break aan'luuans 9 {13061

for ... for
Efor - .. Efor
if.condition: é if.condition:
. 'e.n;f;‘lﬂuana,ﬂ
break aznsviaa g161a9n151U break
22NN1IAININIUN AL 1AAARNNIIIVUAN 9

break a¢; zvinatine'ls

2110101 3ernssumauiieas w14 (14/09/67) 17



break aan'lduiare 9 quara dalstasu

to outer = False
for

for
if condition:
to_outer = True

break

if to outer: break

2110101 3ernssumauiieas w14 (14/09/67) 18



break aan'lduiare 9 quara dalstasu

prefix = words[0]

for i1 in range(len(words[0])):

words[0] [1]

for j in range(l,len(words)) :
if i >= len(words[j]) or \

C

c !'= words[j][i]:
prefix = words[j][:1]
ap1noen luanga

11 longest prefix
2avATu words

2110101 3ernssumauiieas w14 (14/09/67)

prefix = words[O0]
found = False
for i in range(len(words[0])):
c words[0] [1]
for j in range(l,len(words)) :
if i >= len(words[j]) or \

c !'= words[j][i]:
prefix = words[Jj][:1]
found = True
break

if found: break

19




break aanlduiane 9 Aua2e arswanaantiluwenddu

for ...

for ...

if condition:

annean lUuange

2110101 3ernssumauiieas w14 (14/09/67)

def func(...):
for ...

for ...

if condition:

return

20



break aanlduiane 9 Aua2e arswanaantiluwenddu

prefix = words[O0]

for 1 in range(len(words[0])):
words[0] [1]

for j in range(l,len(words)):

C

if i >= len(words[j]) or \
c !'= words[j][i]:
prefix = words[j][:1]
apnoan lUuanam

2110101 3ernssumauiieas w14 (14/09/67)

def longest prefix(words):
for i in range(len(words[0])):

c = words[0] [1]

for j in range(l,len(words)) :
if i >= len(words[j]) or \

c !'= words[j][1]:
return words[j][:1]

return words|[0]

prefix = longest prefix(words)




Nested Lists: aaa2iaululdas

[~4 Y ai % v [ ai [ a o
o LNUNANANUTENAUMAatANREDANLTIUIS
— ["Ranee", 1989,
["Plerng Boon", "Bubphe Sanniwat", "Krong Kam'"]]

o LAUNDURVANY 9 67 NaRHITADYRLDL 9
- [ [6131001021, 3.8], [6130020221, 3.7] ]

e LAUZAYRTIATILNANN TUUSEINAaNA (120U sort aNAINEND)
_ ["your", "kiss, "is", "on", "my", Hlist"]
[ [4, "your"], [4," kiss"], [2, "is"],
[2, "on"] , [2, "my"] , [4, Hlist"] ]

o LAULUNSA]

- [ [1, 2, 3, 0], 1 2 3 0
[2, 3, 0, 1], 2 3 01
[4, 1, 2, 2] ] 4 1 2 2

2110101 3ernssumauiieas w14 (14/09/67) 22



919 nested list

- Ranee
/1989
%ﬂ,Plerng Boon, Bubphe Sanniwat, Krong Kam

1\,
1)
v

“‘'name = input()
\:byear = int(input())
series = input() .split (", ")

actress = [name, byear, series]

4 4
["Ranee", 1989, a

["Plerng Boon'", "Bubphe Sanniwat", "Krong Kam"]]

2110101 3ernssumauiieas w14 (14/09/67) 23



919 nested list

-3
6131001021 3.8
6130020221 3.7
6130150721 2.7
- // /
n = int(input())
students = [] //
for i in rangg{n): ‘/
student ID, gpax = input() .split()
gpax = float (gpax)
students.append( [student ID, gpax] )

[["6131001021", 3.8], ["6130020221", 3.7], ["6130150721", 2.7]]

2110101 3ernssumauiieas w14 (14/09/67) 24



919 nested list

["your", "kiss"’ "is"’ "on"’ "my"’ Hlist"]

[ [4, "your"], [4," kiss"], [2, "is"],
[2’ "on"] , [2’ Hmy"] , [4’ "list"] ]
A A

def sort by length ( wo#ds ) :
x = [] | 5
for w in words: |
x.append( [len(w), w] )
x.sort ()
for k in range(len(x)):
words[k] = x[k][1]

[ [2, "is"], [2, "my"], [2, "on"],
[4," kiss"], [4, "list"] [4, "your"] ]

["iS", "my", "on", "kiSS", Hlist", "your"]

2110101 3ernssumauiieas w14 (14/09/67) 25



AAAIFTLIV

x = [0]*5 1& [0, O, O, 0, O]

x = [[0]11*5 1&[[0], [0], [01, [O], [O]]
x[0][0] =9 [l [[9], [91, [91, [91, [9]]

0
L >

list

0 3 4
x = [] a 1 1 [ a o
for i in range (5): LuUineazAaIUAURL ARG
x.append ([0])

2110101 3ernssumauiieas w14 (14/09/67) 26



wuuiniia: First Fit / Best Fit

AL auTUTUnAsNLLYI aAIsURIIIUIULAN T LAY
100 aantilushanistas 9 uaags1an1siNasI
TaitAu 100 Wulaurus1an1sUdat 9

[20,90,10,80]
First Fit Best Fit
| [20] ] | [20] ]
| [20], [90] ] | [20], [90] ]
| [20,10], [90] ] | [20], [90,10] ]
| [20,10], [90], [80] ] [ [20,80], [90,10] ]

LRaAFEUINN IR IGATR LA lRandasiauniguan

2110101 3ernssumauiieas w14 (14/09/67)
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Nested List as Matrix

30
01 [4
2 2

& DR W
R WN

def read matrix():
m = []
nrows = int (input())
for k in range (nrows) :
X = input() .split()
r = []
for e in x:
r.append( float(e) )
m.append (r)
return m

2110101 3ernssumauiieas w14 (14/09/67) 28



print_matrix( M )

def print matrix( M ):

if len(M) ==
print (M)

else:
print("[" + str(M[O0]))
for i in range(l,len(M)-1):

print(" " + str(M[i]))

print(" " + str(M[-1]) + "1")

M= [[1121314]1[212111311[2’6’7’7]]
print matrix (M)

(i, 2, 3, 4]
(2, 2, 1, 3]
(2, 6, 7, 7]1]

2110101 3ernssumauiieas w14 (14/09/67) 29



add_matrix(A, B)

def add matrix (A, B):

C = [l
nrows = len (3)
ncols = len(A[0])
for i in range (nrows):

C.append( [0.0]*ncols )

for j in range(ncols):

C[i][J] = A[1][J] + B[1i][]]

return C

A = read matrix()

B read matrix()

C = add matrix (A, B)
print matrix (C)

2110101 3ernssumauiieas w14 (14/09/67) 30



wuuine: mult(A, B)

def mult (A, B):
C =[]

return C

q—1
Cij= Z A; By j
=0

A 1aune pxqg, B fluuna gxr, C JUUA pxr

2110101 3ernssumauiieas w14 (14/09/67) 32




List Comprehension

(dQ/

38T audFoaARARTY wazdidsz&nann

# 1 x Hludasiua int # wdawnnalu x iludnating
t =[]
for e in x:
t.append (2*e) t = [ 2% for e in x ]
t = [] # 1WQanu19A TURE X
for e in x:
if e >= 0:
t.append (e) t = [e for e in x 1if e >= 0]
t = [] # 1RanuATud&s X unuias
for e in x:
if e >= 0:
t.append(2*e) t = [2%e for e in x if e >= 0]

2110101 3ernssumauiieas w14 (14/09/67) 33



MIAENY: ANUENITAAINUIULULTTVNALA LI AU

x = input () .split()

d = [] d = []
for e in x: for e in input() .split():
d.append( int(e) ) d.append( int(e) )

19f list comprehension

d = [int(e) for e in input() .split ()]

d = [float(e) for e in input() .split()]

2110101 3ernssumauiieas w14 (14/09/67) 34



MIAENY: BEIRANAURMNFTIMINAINUELND

def sorted by length(s):
t = []
for e 1in s:
t.append( [len(e), e] )
t.sort ()
r = []
for n,e in t:
r.append( e )
return r

19 list comprehension

def sorted by length(s):
t = [[len(e) ,e] for e in s]
t.sort ()
return [e for n,e 1in t]

2110101 3ernssumauiieas w14 (14/09/67) 35



List Comprehension 1570731

import timeit

def for loop(n):
t = []
for i in range(n):
t.append (n)
return t

def comprehension(n):
return [n for i1 in range(n)]

def time (func):
print (timeit. timeit (func+" (1000000)",
globals=globals () , number=100))

time ("for loop") # 9.2609192
time ("comprehension") # 4.7720880999999995

2110101 3ernssumauiieas w14 (14/09/67) 36




Tuple — Set — Dict

AAIMIAINTIUAAUNILORAS
IRINTAN K INENAE
©&E Dl



o tuple tnilau list upasvuddaundasli'le
- list: x1 = [1, 3, 4]; x2 = [9]
~ tuple: tl1 = (1, 3, 4); t2 = (9,)

e i1 operations 619 9 tKlaul&s (LW1EN lutd]auan)

t = (11,22,33)

print (len(t)) # 3

print (t[0],t[-1]) # 11 33
print(t[:2]) ¥ (11,22)
print (33 in t) # True
print(t.index(33)) # 2

# udlulule neasalvale

t[0] = 99 # He

t = (99,) + t[1:] ¥ (99,22,33)

2110101 3ernssumauiieas w14 (14/09/67) 3



Tuple vs. List

o inlyf list iiudiayamnunmnawmiiaudu Allaiiadfiu
weiazdranalanua uarddsildauaunale
— s UaIUALHUTEIMNAZLUUNNN T1UaE
— axduavaannfiviialdnathiue
— AasuadanATTisa¥uusnng
e 3nTal tuple tAuriayRAINNUNEENIAY 21GIATATU
analuildsunilas waznidlaluil&suruia
— NitlagavaadtAudd® X, y unusiunud
— yilagudasify wwuilseand da was Hide
o lumumaiia tuple l@nNI1 153077 (fianias)

MatvuadRFANLALtNLEUaNAaUd rataduldnidaazinuiznin
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12f tuple uNEgNN

daYS_Of_Week — (" SU" , "MO" , 1A TU" , "WE" , " TH" , " FR" , LA SA")

[ ("6131001021", "A"), ("6130020221", "B"), ("6130150721", "A")]

[(4,"your"), (4,"kiss"), (2,"is"), (2,"on"), (2,"my"), (4,"list")]

words — ["your" , "kiss 11} , 11} is 11} , "on" , "my" , " 1ist"]
X = [ (len(s), s) for s in words ]

2110101 3ernssumauiieas w14 (14/09/67) 5



12 tuple ialnilagnsudla

[ ["6131001021", "A"], ["6130020221", "B"], ["6130150721", "A"]]

[ ("6131001021", "A"), ("6130020221", "B"), ("6130150721", "A")]

(("6131001021", "A"), ("6130020221", "B"), ("6130150721", "A"))

def print grades(grades):
for name,grade in grades:
print (name; "-->" grade)

grades[0] [1] = "F"
grades[0] = (grades[0][0], "F")

grades = ((grades[0][0], "F"),) + grades[1l:]
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wuutnia: Polynomial

4% + 3x — 1 wnuaae [(4, 2), (3, 1), (-1, 0)]

def add polynomial( pl, p2 ):
# AuNaUINUAY pl AU p2

def mult poly(pl, p2):
# AUNRAUUAY pl AU p2

2110101 3ernssumauiieas w14 (14/09/67) 7



Set

o set HludiAurayanliadhdu wazlidseau
o AayariAulu set sagid@aunilagly'le

— A int, float, bool, str, tuple

— A list, dict, set 13l
es=4{43,1, 2}
e s =set() lataning uwe { } 6 dict 11y
e Taflen(s), ifeins, uay foreins la
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Set Methods

A= {1,2,3,4,5}
B = {3,4,5,6,7}
C = A.union (B) # {1,2,3,4,5,6,7}
C=2A| B ¥ {1,2,3,4,5,6,7}
C = A.intersection(B) # {3,4,5}
C=2A&B ¥ {3,4,5}
C = A.difference (B) ¥ {1,2}
C=A-B # {1,2}
C.add (9) ¥ {1,2,9}
C.remove (1) ¥ {2,9)}
print( A <= B, A.issubset(B) ) # True True
for e in A:
print (e) A B
C=A""B

A&B

2110101 3ernssumauiieas w14 (14/09/67) 9




ANssvLaAAaURTUNLALENY 9

s = set(d) LANaUNL

S

for e in d:

set ()

s.add (e)
s = set([1,2,3,1] ) 2> s = {1,2,3}
s = set((1,2,3,1) ) 2> s = {1,2,3}
s = set( "Mono" ) 2> s = {"M", "o", "n"}
s = set( {"A":2, "B":2} ) - s = {"A", "B"}
s = set( {1,2,3} ) -2 s = {1,2,3}
s = set( range(1,7,2) ) -2 s = {1,3,5}

2110101 3ernssumauiieas w14 (14/09/67)
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ANTRsNARGAAAaNRTUNLALENY 9

x = list(d) wildouny  |[x = []
for e in d:
x . append (e)

x = list([1,2,3,1] ) > x = [1,2,3,1]

x = list( (1,2,3,1) ) > x = [1,2,3,1]

x — list( "Mono" ) 9 x — ["M" , "o" , "n" , "o"]
x — list( {"A" :2 , "B" :2} ) 9 x — ["A" , "B"]

x = list( {1,2,3} ) 2 x = [1,2,3]

x = list( range(1,7,2) ) -2 x = [1,3,5]

2110101 3ernssumauiieas w14 (14/09/67) 12



A vnLilaanndayaluniausig 9

t = tuple( [1,2,3,1] ) >t = (1,2,3,1)

t = tuple( (1,2,3,1) ) > t = (1,2,3,1)

t — tuple ( "Mono " ) 9 t — ("M" , "o" , "n" , "o")
t — tuple ( { "A" : 2 , "B" : 2} ) 9 t — ("A" , "B")

t = tuple( {1,2,3} ) > t = (1,2,3)

t = tuple( range(1,7,2) ) =2 t = (1,3,5)
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sort vs. sorted

def sorted(x) : sorted(x) tilu built-in
out = [] function 7Ainzayalu x

for e in x: d e 0
out.append (e) JILIENANTIOUUAUN LLAIAY

out. sort () NRAWBNRUMNLTUR R

return out 83U X g9t ULAN
x = sorted( [1,4,3,2] ) 2> x [1, 2, 3, 4]
x = sorted( {1,4,3,2} ) 2> x = [1, 2, 3, 4]
x ] Sorted( "hello" ) 9 x — ["e" , "h" , "l" , "l" , "o"]
x = sorted( {22:2, 90:3, 3:23} ) = x = [3, 22, 90]
x = [1, 4, 3, 2] ) gatnaanuuanaelunisla
x.sort () # sort T12Au list Wwinilu X_sort() 1 Sorted(x)

2110101 3ernssumauiieas w14 (14/09/67) 14



for elem in a set

AayRgARiuNNLARNDANNIAILRAUN LU ULUUDU

S = {11111, 22222, 33333, 55555
44444, 55555 66666 L

’ ! } 66666

for e in S: 229292
print (e) 33333
44444
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if e in set vihvusinin if e in Jist

import time n = 50000
def search all (X): L =]
b = time.time () for i in range(n):
n = len (X) L.append (i)
for i in range(n): S = set()
if i in X: # True for i in range(n):
pass S.add (1)

for 1 in range(n):
if (n+l) in X: # False | |search all(L)
pass search all (S)

print (time.time () - b)

ANsAUTU set
15909 list 41 .84556722640991

0.0149579048156738

1] —] ﬂ v duiulii
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datg: WaAnuasIAtaNaiAUTUR6

def has duplicate( x ):
for i in range(len(x)-1):
for j in range(i+l, len(x)):
if x[i] == x[]j]:
return True
return False

def has duplicate( x ):
d = sorted (x)
for i in range(len(x)-1):
if d[i] == d[1i+1]:
return True
return False

[2I 3/ 4/ 5/ 6/ 6/ 6/ 7’ 8/ 8/ 8/ 9]

2110101 3ernssumauiieas w14 (14/09/67) 17



datg: WaAnuasIAtaNaiAUTUR6

def has duplicate( x ):
s = set( x )
return len(s) !'= len (x)

def has duplicate( x ):
s = set ()
for e 1n x:
1f e 1in s:
return True
s .add (e)
return False

2110101 3ernssumauiieas w14 (14/09/67)
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MAENY: WFAIANUIUAIAUNIINAULE K

X = [int(e) for e in input() .split()]

d = set(x)
k = int(input()) 123489 -8 -2
soln = [] 11
for e in d:
el =k - e

if e < el and el in d:
soln.append((e, el))
if len(soln)==0:
print ("Not found")

else: [(2, 9), (3, 8)]
print (soln)
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mIatiNg: Sieve of Eratosthenes

s1 = { 2, 3, 5, 7,
11, 13, 17, 19,
23, 29,
31, 37,
41, 43, 47, }

UIURDNIE | S1 = set(range (2, N+1))
nneINiA1 |for i in range(2, int(N**0.5) + 1):

19Au N S2 = set(range(2*i, N+1, i))
Sl = S1 - S2
{ 4, 6, 8, 10, ..., 50}
{ 6, 9, 12, 15, ..., 48}
S2 |{ 8, 12, 16, 20, ..., 48}
{10, 15, 20, 25, ..., 50}
{12, 18, 24, 30, ..., 48}
{14, 21, 28, 35, ..., 49}
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LuuRNAe: Winner

Widauldsuasunasunanisutviunauaa
AAUUTHEIINNUTALIIN LULALILLW LR El

5

Chelsea Liverpool
ManU Liverpool [:$> ['Chelsea', 'Everton']
Liverpool ManU

Chelsea Arsenal
Everton ManCity

2110101 3ernssumauiieas w14 (14/09/67) 21



List vs. Dict

LAudayanidanuduwusiulese list vda dict

X
I

[ "6130102321", "6130238221", "6031022121" ]
p=1[ [10, 9, 10], [9, 10, 8], [5, 8, 7] ]

x = [ [6130102321, [10, 9, 10]],
[6130238221, [ 9, 10, 8]],
[6031022121, [ 5, 8, 7]]1 1

Q.
I

{ "6130102321": [10, 9, 107,
"6130238221": [ 9, 10, 8],
"6031022121": [ 5, 8, 7] }

2110101 3ernssumauiieas w14 (14/09/67) 22



List vs. Dict

x = [ "6130102321","6130238221","6031022121" ]
p=1[ [10, 9, 10], [9, 10, 8], [5, 8, 7] ]

ID = input()

if ID in x: . of
print( p[x.index (ID)] ) L

# x.sort() WHILATUAAE x, dayalu p LLUATINU x

t = [1]
for i in range(len(x)):
t.append ([x[i],p[i]]) . £}
t.sort ()
for i1d, sc in t:
print(id, sc)
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List vs. Dict

x = [ [6130102321, [10, 9, 10]1,
[6130238221, [ 9, 10, 8]]1,
[6031022121, [ 5, 8, 7]] 1

ID = input()
for sid, scores in x: # AU ID savlaAuLay
i1f sid == ID: .
print( scores ) . 1, &9
break

x.sort () # 138900 ID
for sid, sc in x: @ NTAIN
print( sc )
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List vs. Dict

d = { "6130102321": [10, 9, 10],
"6130238221": [ 9, 10, 8],
"6031022121": [ 5, 8, 7] }

ID = input()

if ID in d: <
print( A[ID] ) CDljj

# 6adn1s3a9nN id
for id in sorted(d):
print( id, d[id] )

@ fTAIN
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LUURNAWE: 3aIUTLLAMINRIAIULINTTIN

Input

9

Shake It Off, Taylor Swift, Pop, 3:39

Rolling In The Deep, Adele, Pop, 3:48

Chandelier, Sia, Pop, 3:36

Roar, Katy Perry, Pop, 3:42

Hotel California, Eagle, Rock, 6:30

We Are the Champions, Queen, Rock, 2:59

Hello Dolly, Louis Armstrong, Jazz, 2:27

Bohemian Rhapsody, Queen, Rock, 5:55

Coward of the County, Kenny Rogers, Country, 4:20

Output

Rock --> 15:24
Pop --> 14:45
Country --> 4:20

LRAIUTTLAMINAY AUGIE
AU BUTALAZIUNT
LBEIAMNAINULINTIN 3
AUALLLIAINANINUUAE
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14 value aav dict (ilu list, set w3a dict Al

'Hello': {'Adele', 'Lionel Richie', 'Prince'},

'Shake It Off': {'Taylor Swift'},

'Chandelier': {'Sia'}, {str: set}

"You've got a Friend": {'Carol King',
'James Taylor'},

'What a Wonderful World': {'Anne Murray',
'Louis Armstrong',
'"Rod Stewart'},

}
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aaev: dict

birthdate

{

"6130192221":
"6131022521":
"6230012121":

}

ID = input() .strip()
print ("Birth date of",
print ("Birth year of",

(31,12,2000),
(28,2,2000),
(3,4,2001)

{str:

tuple}

ID, "is", birthdate|[ID])
ID, "is", birthdate[ID][2])

series = {

"Urassaya'":

}

"Ranee": {"Roy Marn",

name = input() .strip()
print (name, '"starred in", ",

"Plerng Boon'"},
{"Maya Tawan","Kleun Cheewit"}

{str:

set}

" " join( series [name] ) )

2110101 3ernssumauiieas w14 (14/09/67)
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AIAENY: MINTAU

Ted, bear { '"bear':

Pongo, dog {'Ted', 'Fozzie'
Fozzlie, bear 'Winnie-the-Pooh',
Winnie-the-Pooh, bear 'Yogi', 'Baloo'},
Nana, dog 'dog':

Scooby Doo, dog {'Pongo', 'Nana',
Garfield, cat 'Scooby Doo',
Yogi, bear ::D> '"Pluto', 'Goofy'},
Tom, cat 'cat':

Sylvester, cat {'Garfield', 'Tom',
Figaro, cat 'Sylvester',
Pluto, dog 'Figaro', 'Felix'}}
Baloo, bear

Goofy, dog

Felix, cat { str: set }

g9
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AIAENY: MINTAU

cartc_’on = U { str: set }
X = input()
while x !'= 'q':
name, atype = x.split(", ")
if atype not in cartoon:
cartoon[atype] = {name} + _
else: h
cartoon[atype] .add (name)
x = input()
print (cartoon) = |
2fNLULU set (name)

2110101 3ernssumauiieas w14 (14/09/67)
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LUUHAYR: LEAYAANANITAU AUA AL ULLAINN

Ted, bear

Pongo, dog

Fozzie, bear
Winnie-the-Pooh, bear
Nana, dog

Hello Kitty,—eat
Scooby Doo, dog
Garfield, cat

Yogi, bear

Tom, cat

Sylvester, cat

Pluto, dog

Goofy, dog Faanaunay

9 ANUTAT UL

__________________________________________________________________________ >

wﬂonauuaa bear: Ted, Fozzie, Winnie-the-Pooh, Yogi
mmnmu

dog: Pongo, Nana, Scooby Doo, Pluto, Goofy

12 ¢ cat: Hello Kitty, Garfield, Tom, Sylvester
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More on Dict: keys(), values(), items()

D ={ "Vios": "Toyota", "Fortuner": "Toyota'",
"Wave": "Honda", "Civic": "Honda" }
: Civic
for k in D.keys(): Fortuner
print (k) Vios
Wave
for v in D.values () Honda
print (v) Toyota
Toyota
Honda
fOr k,V in D.itemS() . Civic Honda
print (k, wv) Fortuner
Toyota
Vios Toyota
Wave Honda
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MIALNI: reverse mapping

def reverse( d ): # ns6ii value “aigi Ay
r ={1}
for k,v in d.items () :
r[v] = k
return r |\4of reverse( d ): # nsAiN value anazihdu
r ={}
for k,v in d.items () :
if v ‘EC’;‘ ln{]i; if v not in r:
r[v] =
else: riv] = set()
r[v] .add (k) r[v].add (k)
return r
d { "Vios": '"Toyota", "Fortuner": "Toyota",
"Wave": "Honda", "Ciwvic": "Honda" }
r { "Toyota": {"Vios", "Fortuner"},
"Honda": {"Wawve", "Ciwvic" }
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LUUAAYR: TAaIradtnadll

11

Hello, Adele

Shake It Off, Taylor Swift
Chandelier, Sia

You've got a Friend, Carol King
Hello, Lionel Richie

What a Wonderful World, Anne Murray
Hello, Prince

What a Wonderful World, Louis Armstrong
You've got a Friend, James Taylor
What a Wonderful World, Rod Stewart

Input

Hello, Sai Wa Si Bor Tim Gun, You've got a Friend

Hello -> Adele, Lionel Richie, Prince
Sai Wa Si Bor Tim Gun -> Not found

Output

You've got a Friend -> Carol King, James Taylor

2110101 3ernssumauiieas w14 (14/09/67)
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a="ABC"

b=["A
c=("A
d={"A
e={"A":

2110101 3ernssumauiieas w14 (14/09/67)

&91 string, list, tuple, set, dict

n II L1 n

3

¥

n II L1 n

3

1] 11 1I n

5

C
C
C

Frames

Global frame

a
b

o I

Objects

list

ol

|
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g91n15T2i9u list, tuple, dict, set

st - aduravtayail - sduuasdayad - tAudayaiiuag - Audayaluan
ANMUNNIE 21T AURNNE key-value 1aalyd  &raunastayalul
AstlRaunlag - &uanlu key wwnfivtiayga  ANUKUNE LWA
- diayalusnanis  wdsuuilae Walile value  a93dauin draya
WndaIunue - 2iayalu tuple U Tadeu wIa'lu 5a95U set
LAENAU WnAANKRUNE operations

AU
mudild  TdHnudusty Tdwudusey 1o key wlludisty a9 for...in...
Taun GILUUY d[4i] d[i] GLNUIADYR [HauavUaYa
d[key]

nmadudas  auannghaldaan duanaghalduaan $38Aundina J38Aunidunn

in 2 2

ﬂ'\ljﬁ%ﬁ’lﬁ X =[1/213I4] t = (1/2/314) d = { "k]-":lr s = {1/2/3/4}

"k2":2 }
RaRIRTIY x .append (3) s ouadldounlas d["k1l"] = s.add (3)

1
x.insert(1,99) 136 siavas9Tn d["k2"] = 2

PR
b t=t + (4, )
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NumPy

AAIMIAINTIUAAUNILORAS
IRINTAN K INENAE
©&E Dl



o AaAIAIRaNTUsTINANAR U UM NN MRS
o U1y &U wazvinauEHINA

e https://www.numpy.org/

o 3i'l6iunAu Python siagdindiaLiin

. 1 T Thonny - ChUsers\somch\Google Drive\2110101-Meooc\Exercises\ 101 -example:
C:\>pip install numpy R 9 P
File Edit View Run Device Tools Help
B = O <5 Manage packages...

@ Open system shell...
numpy-01.py gEn_EXErcise.| B e
Open Thonny program folder...
schools = Open Thonny data folder... | "
schools. st Manageplug-ins...
Options...
matches = []

2110101 3ernssumauiieas w14 (14/09/67) 2


https://www.numpy.org/

anstAudaya: NumPy Array

Array: AanistAudayatidunararduidasduly
ARNELRFG LWANAALANFAI LU
— nadadluastaiAudayatfendunuea (TatAusiuliu)

— tAudayalagnanadis
e 1{if : vector [1, 2,3, 4]
e 2 {ifi : matrix _(1, (1)
o N fifi : tensor _[1 0], [1 2”
0 1/713 4

— 1af tuple 11lu index Waladdayaluaiised
12y a tuanised 2 §G6

diaw a[(1,2)] wiaxsudiau afl,2] Ale
— {1 operators way methods T¥iTav1uNINNE
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2110101 J@rnssumuNILaRT

List vs. NumPy Array: 5¢8£n19nnaln

def all pair distances (points):
# points Lilu nested list t2u[[0,0],[0,3],[4,0]

n = len(points)

List

D= [[0.0]*n for i in range(n)]
for i in range(n):
for j in range(i+l, n):
dx = points[i] [0] - point[j][O0]
dy = points[i] [1] - point[j][1]
D[i][j] = D[J1[i] = (dx**2 + dy**2)**0.5
return D

def all pair distances (points):

# points Lilu NumPy array NumPy Array
n = len (points)

X = points[:, O] n1snaaay n = 2000
Y = points[:, 1] List: 5.44 s.
dX = X - X.reshape(n,1) NumPy: 0.337 s.
dY = Y - Y.reshape(n,1)

D = (dX**2 + dYy**2)**0.5 12n1ad1anI1 &

return D IN191UL5In 3NN




NumPy Array Tu 2110101 (aawsien)

N5 ALTELULANY 9
indexing
element-wise operations
broadcasting
Worduinaula

(sum, min, max, argmin, argmax, mean, std, dot)
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ARSI E

import numpy as np

= np.array([1,2,3,4]) ¥ &9 nnAs6
= np.array([[1,2],[3,4]],£float) # &9anaRE
= np.ndarray( (2,3) ) # f9muauia A'lig

= np.ndarray( (2,3), int)

= np.zeros( (2,3), int) # &9euaula A1 0 Bue
= np.ones( (2,3), int) # 9auauia A1 1 wua

np.zeros like (f, float) # auaniiau £ @10 e

np.ones _like( e, float) # auauiiaue A1 1 1ua

= np.identity( 4, int) # identity matrix aua 4x4

np.arange(Oéo, 1.0, 0.1) # [0.0,0.1,0.2,..,0.9]
\_ int A%, float A6 (range lgta int)

2110101 3ernssumauiieas w14 (14/09/67) 6
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e array.shape Au tuple uansaasiaanuadIfia
—a = np.ones( (3, 4) )
2¢'l6 a.shape Lilu (3, 4)

 a.shape[0] #Aa 3 tfudruruuad
- a.shape[1l] Aa 4 (dudruiuraduud

e len( array.shape ) \Huaveuafic

—a = np.ones( (3, 4) )
2¢'l6 len( a.shape ) tilu 2

2110101 3ernssumauiieas w14 (14/09/67) 7



S HCVACSERE@ETRLE D

Un2iayalu array undnsduuulvinsianun shape

(]
I

np.arange (8)

o
I

a.reshape((2,4))

c = b.reshape((4,2))

Q.
|

= c.reshape(8)

Q.
I

c.reshape((2,3))

# [01 2 345 6 7]
# [[01 2 3],

[4 5 6 7]]
# [[0 17,

[2 3],

[4 5],

[6 7]1]
# [01 2 345 6 7]
# vin'lule
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e a.T AR transpose AAIALIE a

e aflldid, a.T tnllau a

e afl 246, a.T Aa transpose AaILNNTNY a
a = np.arange(8) [01 2 345 6 7]
print (a) [0 1 2 345 6 7] [[0]
print(a.T) [[0 1 2 3] [1]
b = a.reshape((2,4)) [4 5 6 7]] [2]
print (b) [[0 4] [3]
print (b.T) [1 5] . >[4]
c = a.reshape((1,8)) [2 6] f' [5]
print (c) [3 711 5 [6]
print (c.T) [[0O1 2 345 6 7]] [7]]

fadutng: a luwiiau c (shape luniian)

2110101 3ernssumauiieas w14 (14/09/67) 9



1af tuple szushunlgTuaisel

import numpy as np

def count ones( A ):
c =20
for i in range( A.shape[0] ):
for j in range( A.shape[l] ):
if A[i,3j] ==
c += 1
return c

\iau A[i, j]1 willaudu A[(i, j)]

LAEAYsINNTTUIIUIN 1 Tu A ey np.sum(A==1) Ana

2110101 3ernssumauiieas w14 (14/09/67) 10



Slicing: start : stop : step

o siluuu: Al lRanual , Leanmaauil |
e 5239: A[ t\Ranual ][ asuliluluiRanmadui ]

a=1/[[1,2,3],[4,5,6]1,[7,8,9],[10,11,12]]
print( a[::2] ) # [[1,2,3]1, [7,8,9]]
print( a[::2][::2] ) # [[1,2,3]]

A = np.array(a)

print( A[::2] ) ¥ [[1 2 3]
# [7 8 911
print( A[::2][::2] ) # [[1 2 3]]
print( A[::2, ::2] ) ¥ [[1 3]
lRaNLAIA  AAANUA # [7 911
print( A[::-1, ::-1] ) # [[12 11 10]
[ 9 8 7]
[ 6 5 4]
[ 3 2 1]]

2110101 3ernssumauiieas Wl —— 11




Fancy Indexing

a=[0,10,20,30,40,50,60,70,80,90]

= np.arange (0, 100, 10)

= a[0::2] # b = [0 20 40 60 80]
= a[ [8,1,9,0] ] # ¢ = [80 10 90 0]

c[ [True,False,False,True] ] # d=[80 0]

R QO O P **
I

np.array([[1,2,3],[4,5,6],[7,8,9],[0,1,0]])
Al [1,3,2], [2,0,1] ]

*+= = W P

A[l,2], A[3,0], A[2,1] B =1[60 8]

2110101 3ernssumauiieas w14 (14/09/67) 12



LUURNNWG

# A is a 2-d array
def get column from bottom to top( A, c ):
return # UsTNALAELN

def get odd rows( A ):
return # UITVNALAEN

def get even rows last column( A ):
return # UsTNALAELN

def get diagonall( A ): # A is a square matrix

return # 29U 6

def get diagonal2( A ): # A is a square matrix

return # Ja9UTTNA

2110101 3ernssumauiieas w14 (14/09/67) 13




ANTUNARLART LR LU E

laAdna1sliinunntasnvainauas =

A = np.zeros(8)
A[2:5] = 9

A = np.ndarray((4,4), int)
Al:, :] 9

11 9 Tannual, nnAaduu

B = np.zeros((4,4), int)
B[:, 0::2] =1
B[l::2, :] = 2

1a 1 TumadulauaInALa?
1a 2 TunarAuavnneaduud

2110101 3ernssumauiieas w14 (14/09/67)

[0099900 0]

9 9 9 9
9 9 9 9
9 9 9 9
9 9 9 9
1 0 1 O]
2 2 2 2
1 01 0
2 2 2 2]
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ANTATLIALLARZA TUANLTEALUARLARIT

A lvidisiad) wazfunatiluause

2110101 3ernssumauiieas w14 (14/09/67)

a = np.array ( [1, 2, 3, 4, 5] )
b=a+1 ¥ [2 3 4 5 6]
c = a**2 + 1 # [2 5 10 17 26]
d = a/2 # [0.5 1.0 1.5 2.0 2.5]
def toCM( inches ) :
return inches * 2.54
d = np.array ([0, 10, 12, 100])
print (toCM(d))
[ O. 25 .4 30.48 254 . ]

15



naaweAaundly math 41U numpy 6ael

a = np.array( [10, 100, 1000, 10000] )

b = np.logl0 (a) ¥ [1., 2., 3., 4.]

c = np.array( [np.pi, 2*np.pi, 3*np.pi] )

d = np.sin(c/2)

# [ 1.0000000e+00, 1.2246468e-16, -1.0000000e+00]

2110101 3ernssumauiieas w14 (14/09/67) 16



ANt nauAI Ut AugLAR1T

urauAaulvicnsady wazAunatiuaiwse True/False

a = np.array( [1, 2, 3, 4])
b=a>3 # 'l6 [False False False True]
= a%2 == # 16 [True False True False]

Q
|

GRINITULAUIULRAATUANLSE a

def count odds( a ): T | tu Python
return sum( a%2 == 1 ) True #aA11
False §iA 0
def get odds( a ):
return a[ a%2 == 1 ] # v&anaw1zda9il True

def get odd positions( a ):

pos np.arange (a.shape[0])

return pos[ a%2 == 1 ]

2110101 3ernssumauiieas w14 (14/09/67) 17



LUURNNWG

def toCelsius( f ):
# £ = [ temperature in Fahrenheit, ...]

def BMI( wh ):
# [[wl,hl1l], [w2,h2], ...]

def distanceTo( P, p )
# distance from p to all points in P

2110101 3ernssumauiieas w14 (14/09/67) 18



wuutniia: Logistic Regression

gas5vinunalana p(x) AnGEau x Liﬂumummuo
N WIUTINGNvin (%,) AULNTALRA LTS (x4)

1
1+e —logit(x)

p(x) =

logit(x) = —3.98 + 0.1xy + 0.5x;4

It auTlsnsu mumuauiamauaumsmaa £12U A
umsuuﬂauuuo WA RaAsYINUN e

2110101 3ernssumauiieas w14 (14/09/67) 19



Element-Wise Operations

x = [1,2,3]
y = [4,5,6]
z=x+y # concatenation =2 [1,2,3,4,5,6]

u = np.array([1,2,3])
v = np.array([4,5,6])
wW=u+ vV # element-wise addition

# [1+4 2+5 3+6] = [5 7 9]

np.array([[1,2,3], [4,5,6], [7,8,9]])
I = np.identity(A.shape[0],int)

B = I*A # element-wise multiplication
1 2 3 1 0 O 1 0 0
4 5 6[*|0 1 0]|=[0 5 0
7 8 9 0 0 1 0 0 9

2110101 3ernssumauiieas w14 (14/09/67) 20



Element-Wise Logical Operators
’ ’ ’ ’ —rde; I'aiseﬂ—

- - - —rae—tue—tatse——
—rot—ftalse—True—True—Ttalse——

[ True True False False ] & [ False True True False ]

[ True True False False ] | [ False True True False ]

~ [ False True True False ]

siavldimiavninng &, |, ~ &115un15vin and, or, not LuUAIGAR?

2110101 3ernssumauiieas w14 (14/09/67) 21



Element-Wise Logical Operators

3 =
b
b =
#1
b =a[ 2
b =a[ 2
b =a[ 2
b = a[(2
#al[T,
#al
# [3]

= np.array( [9, 3, 0, 2, 6] )
= al[ a < 5 ]

= a[ [False, True, True, True,

3, 0, 2
< a<b5] # 6
< a and a < 5 ] # 06
<a & a<b5] # 06

< a) & (a < 5)] # Ok
TF,Fr,T] & [F,T,T,T,F]]

[F,T,F,F,F] ]

False] ]
]

2110101 3ernssumauiieas w14 (14/09/67)
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mae9 : Matrix Translation

X Yy
[[-7 2]
[-5 7]
[-1 0]] [[ O -1]
[ 2 4]
[ 6 -3]]

siavn1sENaNna 1dn19w 7, agany 3 Aatnananeaaa [7, -3]

M1l = np'arraY([ [_71211[_51711[_110] ])
T = np'arraY([ [71_311[71_311[71_3] ])
M2 =Ml + T
[[-7 2] [[7 -3] [[ 0 -1]
[-5 71 + [7 -31 la [ 2 4]
[-1 O0]] [7 =311 [ 6 -3]]

2110101 Seanssunaniinas 3+ (14/09/67) 1389180371 Tdsedaay... 23



LUURNNWG

def sum 2 rows( M ):

def sum left right( M ): “““

def sum upper lower( M ):

def sum 4 quadrants( M ):

def sum 4 cells( M ):

2110101 3ernssumauiieas w14 (14/09/67) 24




Broadcasting

. Lﬁamml,gﬂ 2 ALl element-wise
e tstiagaslaun lutvinau )

 5¥UUAY broadcast aLseiILdn (W3aa1avinng
ga96n) TrilauravinAunauvingu

1 2 2 31 1 2
[23]+34]ﬁ> 23+34]
5 6 2 31 Is 6
+  WHLN9ASIA broadcast ai'le
1 2 2
25 asfs ol Blef 2]
5 6 4

2110101 3ernssumauiieas w14 (14/09/67) 25



maend: Matrix Translation

X Yy
[[-7 2]
[-5 7]
[-1 0]] [[ O -1]
[ 2 4]
[ 6 -3]]

siavn1sENaNna 1dn19w 7, agany 3 Aatnananeaaa [7, -3]

Ml = nP-arraY([ [_712]1[_517]1[_110] ])

| 1 Y T = np'arraY([ [71_3]1[71_3]1[71_3] ])
NYWIALNINW M2 =ML + T

M1 NU T

Lﬁﬂ%u@icﬁﬁwa M2 = M1 + np.array( [7, -3] )

[[-7 2] [[-7 2] [[7 -3]
[-5 71 + [7, -3] [-5 71 * [7 -3]
[-1 O]] [-1 0]1 [7 =311

2110101 3ernssumauiieas w14 (14/09/67) 26



silating: broadcast satdan Wivinealuial

np.array([[1,2],[3,4],[5,6]])
np.array([2]) + x

2+1 242
2+3 244
2+5 2+6

(1) (3, 2)

(3, 2) (3, 2)

2110101 3ernssumauiieas w14 (14/09/67) 28



silating: broadcast satdan Wivinealuial

np.array([[1,2],[3,4],[5,6]1])
np.array([10 20]) + x

10+ 1 20 + 2]
10+ 3 20 + 4
10+ 5 20 + 6.

(2) (3, 2)
(3, 2) (3, 2)

2110101 3ernssumauiieas w14 (14/09/67)
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silating: broadcast satdan Wivinealuial

np.array([[1,2],[3,4]1,[5,61])
np.array([[10],[20],[30]]) + x

10+ 1 10 + 27
20 + 3 20 + 4
30 + 5 30 + 6.

(3, 1) (3, 2)
(3, 2) (3, 2)

2110101 3ernssumauiieas w14 (14/09/67) 30



MIaeNg: broadcast 11y 2 62

1] 1 1 1 11 [4 5
21+ [4 5] 2 2|+[4 5] 2 2|+14 5
3. 3 3 3 3 4 5
(3, 1) (3, 2) (3, 2)

(2) (2) (3, 2)

2110101 3ernssumauiieas w14 (14/09/67) 32



wuUUNnRe: Outer Product

Ldaullsunsuasieansainugasaaus 1 s 12 2h9anoil
aeA1d9 NumPy 1ae'laisiaglaneiu

[ 3 4 5 6 7 8 9 10 11 12]

2

4 6 8 10 12 14 16 18 20 22 24]
6 9 12 15 18 21 24 27 30 33 36]
8 12 16 20 24 28 32 36 40 44 48]
10 15 20 25 30 35 40 45 50 55 +60]
18 24 30 36 42 48 54 60 66 72]
14 21 28 35 42 49 56 63 70 77 84]
16 24 32 40 48 56 64 72 80 88 96]
18 27 36 45 54 63 72 81 90 99 108]
20 30 40 50 60 70 80 90 100 110 120]
22 33 44 55 66 77 88 99 110 121 132]
36 48 60 72 84 96 108 120 132 144]]

R oOoOuwooJoou b WDNER
=
N

B

-——me.--s- - ™mM “‘-‘‘TMT>T M7 M™MMP~“-<17TMm™
N
N
(1~
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Wordfuiinaulazas NumPy

D.SUM
D.Max, hp.argmax
D.Min, np.argmin
D.mean, np.std
D.dot

o
I R L s B

2110101 3ernssumauiieas w14 (14/09/67) 35



np.sum

a=[1 2 3 4 5] sum J15]
10 9 8 7 6 sum 40
11 12 13 14 15 sum 65
20 19 18 17 161 sum |90,

sum sum sum Ssum sum np.sum(a, axis=1)

142 42 42 42 42]

np.sum(a, axis=0)

np.sum(a) 2aviisuua'le 210

2110101 3ernssumauiieas w14 (14/09/67) 36



np.min

a=[12 2 3 4 5] mn J1]
10 9 8 7 6 min 6

11 12 13 14 15 min 11
20 19 18 17 161 min  |16]

min min min min  min np.min(a, axis=1)

|1 2 3 4 5]

np.min(a, axis=0)

np.min(a) uavivuua'le 1

np.max Aa&e np.min we'laA1NNN&A

2110101 3ernssumauiieas w14 (14/09/67) 37



a=[1 2 3 4 5] mn  JO]
10 9 8 7 6 min 4
11 12 13 14 15 min 0
20 19 18 17 161 min |4
min min  min  min  min np.argmin(a, axis=1)

0O 0 0 0 O]

np.argmin(a, axis=0)

np.argmin(a) wagiioviua'le 0

np.argmax AA&1e np.argmin we laE1LuIAaIAININEA

2110101 3ernssumauiieas w14 (14/09/67) 38



np.mean

a=[1 2 3 4 5] mean [3.0]
10 9 8 7 6 mean 8.0

11 12 13 14 15 mean |13.0
20 19 18 17 161 mean [18.0.

mean mean mean mean mean np.mean(a, axis=1)

[ 10.5 10.5 10.5 10.5 10.5]

np.mean(a, axis=0)

np.mean(a) 2avieuua'ls 10.5

np.std Arde np.mean ws'latdeatuuNInTFIU

2110101 3ernssumauiieas w14 (14/09/67) 39



e np.dot(vector, vector)
[1 2 3]'[4 5 6]=1-4+2-5+3-6=2

e np.dot(vector, matrix)

4 7
5 8]=[[123]-[456] [12 3][7 8 9]]
6 9

=[32 50]

1 2 3]

= [
l ] 2 3]=[[1 2][2 3] [3 4]-[2 3] [5 6]-[2 3]]
[8 18 28]
° Np. dot(matrlx matrix) ARan13AeL matrix

1 2 3

4 5 6 lll 12] [139 154

2110101 3ernssumauiieas w14 (14/09/67) 40



ey np.???(a,b) vida a.???(b) A'la

import numpy as np

x = np.array([[1,2,3],[4,5,6]])

y = np.array([[7,8],[9,10],[11,12]])
a = np.dot(x, y)

a = x.dot(y)

b = np.sum(x,axis=0)

b = x.sum(axis=0)

Cc = np.mean(x, axis=1l)

c = x.mean (axis=1l)

2110101 3ernssumauiieas w14 (14/09/67) 41


http://cs231n.github.io/python-numpy-tutorial/#numpy

draeing: sa'lasulugdeni

UM EAUNTINNFITTIANasAa
2NNV 25 1N
yIpplalo 30 1m — (25 30 45]
§Anzta 45 um )
TudavinsuuN a2 e el

Q/

UNT 29AT WS WAUR  @n9
277Ny 75 120 70 90 80

75 120 70 90 80
yiRPIAl 80 90 100 70 50 —> (80 90 100 70 50

sfmtia 50 45 70 65 50 50 45 70 65 50

[25 30 45]-|80 90 100 70 50|=[6525 7725 7900 7275 5750]

75 120 70 90 80] daily income
50 45 70 65 50

@ weekly income
np.sum( ..) =2 35175
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s1e9 U e L aUsgAFUaif

MO --> 6525
TU --> 7725
WE --> 7900

UM EDTIRITANUFITITIA1ANK1TAA
2A773LLAY 25 1un

gl 30 un TH --> 7275
gAnNsa 45 1N 5 FR --> 5750
Tuddavincruunznaai s el weekly income = 35175

daily average = 7035.0

Q/

UNg d9A17 NS WAUR  ANT

Best sales day = WE AanuLia
quny 75 120 70 90 80 Sales loss on: MO, TH, FR < 7500
vippIAl 80 90 100 70 50 Curry Rice --> 10875
sAvza 50 45 70 65 50 Fried Rice --> 11700

Seafood Suki --> 12600
Best menu = Seafood Suki

6525 7725 7900 7275 5750

dailyincomes = np.dot(prices, dailysales)
weeklyincome np.sum(dailyincomes)
dailyaverage = np.mean(dailyincomes)

best day index = np.argmax(dailyincomes)
2110101 3ernssumauiieas w14 (14/09/67) 43



s1e9 U e L aUsgAFUaif

def report(prices, dailysales, breakeven) :
days — ["MO" , 1A TU" , "WE" , 1A TH" , 1A FR"]
menus = ["Curry Rice", "Fried Rice'", "Seafood Suki'"]

dailyincomes = np.dot(prices, dailysales)
for i in range(len(days)) :

print (days[i], '-->', dailyincomes[i])
print ("weekly income =", np.sum(dailyincomes))
print("daily average =", np.mean(dailyincomes))
print ("Best sales day =", days[np.argmax(dailyincomes)])
loss = np.array(days) [dailyincomes < breakeven]
print("Sales loss on:", ", ".join(loss))
print("----———————-- ")

menuincomes = np.sum(dailysales,axis=1l) *prices
for i in range(len (menus)) :
print (menus[i], '-->', menuincomes|[i])

print ("Best menu =", menus[np.argmax (menuincomes)])

2110101 j@rnssumauiitaas ana (14/09/67) 44



LUUHNAYA: TATAZLUUTINGIAINASLUULRRE

ID Midterm Final Project

np.array([[610011, 80, 90, 70],
[610022, 50, 80, 68],
[610033, 70, 85, 80],
[610044, 60, 50, 90],
[610055, 90, 74, 7011])

weight = np.array([0.3, 0.5, 0.2])

data

AYLUUIINUDY 610011 = 0.3x80 + 0.5x90 + 0.2x70 = 83.0

21131 TATUINIINALLUUTINGINIALUU UL R UDININUA
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Class / Object

AAIMIAINTIUAAUNILORAS
IRINTAN K INENAE
©&E Dl



Usziantaya

al 9 v [
e NHNIUNN a2iayatilu i0aa
— 31U 19 int 32 float - 18
. . - ey ISBN
— 2aAnu 1o str .
— Q%O/Lﬁq 121 boolean - ddnAun
— ﬂdum”mga Tof list, set, tuple, dict o

— mauamﬂszﬂaumﬂmagaﬂaﬂ 1 MAUNNWUDAU 1im51/52971 271
e T2f 1ist, tuple, dict - RUIELA

- ﬁa-ana

- Mag

- JULin

2110101 3ernssumauiieas w14 (14/09/67) 3



1o tuple tAusaazidaasny 9 aadniivda 1 ey

bl = ("Data Science", "149190142X", 28.79)
b2 = ("Learning Python", "1449355730", 37.06)
b3 = ("Data Analysis", "1449319793", 27.68)

print (total price( [bl, b2, b3] )

def total price( books ): UIva D
s =0 - danileda
for b in books: - nunatay ISBN
s += b[2] - 57A"
return s

def total price( books ):
s =0
for title, isbn, price in books:
s += price
return s

2110101 3ernssumauiieas w14 (14/09/67)



1of dict tAushaazidaancie 9 aagnivda 1 tau

bl = {"title":"Data Science", "isbn'":"1408142X", "price": 28.79}
b2 = {"title":"Easy Python", "isbn'":"14455730", "price": 37.06}
b3 = {"title":"Big Data'", "isbn":"14493793", "price": 27.68}

print(total price( [bl, b2, b3] )

def total price( books ): UIIAD
s =0 - dantlvda
for b in books: - Bunaay ISBN
s += b["price"] - 57A
return s

2110101 3ernssumauiieas w14 (14/09/67) 5



anuuy: 12 class &vuseianaualn

class Book:
pass

1" b.title
b.isbn
b.price

bl = Book()

bl{ﬁﬂe[]

title
isbn
price

isbn

price [

def init(b, title, isbn, price):

init(bl, "Data Science", '"149142X", 28.79)

Taideunuutl | | #dvaa

- Hanivda
- ey ISBN
- 57AN

AR& (class) Aalseinnliaya
aaulans (object) Aadiziaua

b.title Aa duils

title 2a9aaULAN6 b

ARIQN&519

self @a aautans

2110101 3ernssumauiieas w14 (14/09/67)

class Book:

def init (self, title, isbn, price):

sng.title =
self.isbn =
self .price =

bl

Book ("Data Science", "149142X", 28.79)

title
isbn
price




weiazaautansdaILlslszindautansiaagaitag

bl = Book("Data Science", "149190142X", 28.79)
b2 Book ("Learning Python",b"1449355730", 37.06)
b3 = Book("Data Analysis", "1449319793", 27.68)

e A e B
title | "Data Science" title |"Learning Python"
bl | — » isbn "149190142X" b2 | —— isbn "1449355730"
price 28.79 price 37.06
\_ J \_ J
e B
title |'"Data Analysis'
b3 | —/—» isbn "1449319793"
price 27.68
N Y,

2110101 3ernssumauiieas w14 (14/09/67) 7



MIaLNg @ ARFNLNULTZLANADYR

class Point:
def init (self, x, y):

self.x = x
self.y = y

p = Point (10, 23)
|

class Date:

def init (self, d, m, y ):
self.day = d

self month = m
self.year =y

d = Date (14, 2, 2562)
|

class Song:
def init (self, title, artist, lyrics ):

self.title = title
self.artist = artist

self.lyrics lyrics
-— " " " " mwmn

self.nviews 0 x = Song("Hello 2 Adele", )

2110101 3ernssumauiieas w14 (14/09/67) 8




MIaLNg @ ARFNLNULTZLANADYR

class BankAccount:

def init (self, acc no, acc_name, balance):
self.acc _no = acc_no
self.acc_name = acc_name
self.balance = balance

class Rectangle:

def init (self, lower left, w, h):
self.lower left = lower left
self.height = h

self.width = w

class Course:

def init (self, ID, name):

self.ID = ID
self.name = name
self.students = []

2110101 3ernssumauiieas w14 (14/09/67)



Astaervdstudautans

class Point:
def init (self, x, y):

self.x = x center
self.y =y ‘Qy

class Circle:
def init (self, p, r):

self.center = p

self.radius = r X
1]
¢ = Circle( Point (20,30) , 100 ) ; Y
\
c.radius = 200 = center |

radius (0

c.center Point (2, 4)

o

& A o & B
aaULane . Aamtlsiuaautane
c.center.X = 3 yqaifludautand

2110101 3ernssumauiieas w14 (14/09/67) 10



Astaervdstudautans

class Book:
def init (self, title, isbn, price):
self.title = title
self.isbn = isbn
self.price = price

bl Book ("Data Science", "149190142X", 28.79)

print( bl.title ) - p— = .
Aa1Lane . acmlstuaautans

bl .price *= 0.80

2110101 3ernssumauiieas w14 (14/09/67) 11



dactnvnstadrndsludaurans

class Book:
def init (self, title, isbn, price):
self.title = title
self.isbn = isbn
self.price = price

bl = Book("Data Science", "149190142X", 28.79)
b2 = Book ("Learning Python", "1449355730", 37.06)
b3 = Book("Data Analysis", "1449319793", 27.68)

print( total price( [bl, b2, b3] ) )

def total price( books ):
s =0
for book in books:
s += book.price
return s

2110101 3ernssumauiieas w14 (14/09/67) 12



dactnvnstadrndsludaurans

class Book:
def init (self, title, isbn, price):
self.title = title
self.isbn = isbn

self.price = price

A1 uUn1 books fia A&ENLALUDALLANEUAY Book

def discount( books, p ):
for b in books:
b.price *= (1 - p/100)

def get min price( books ):
return min([b.price for b in books])

def search( books, isbn ):
for b in books:
if isbn == b.isbn: return b
return None

2110101 3ernssumauiieas w14 (14/09/67) 13



ASANUSAs B anldAudauLtans

class Point:
def init (self, x, y):
self.x = x
self.y = y

functions

def distance(pl, p2):
dx = pl.x - p2.x

dy = pl.y - p2.y
return (dx**2+dy**2)**0.5

def to str(p):
return " (" + str(p.x) + \
""' + Str (p.y) + ") 11}

pl Point (2,4)

p2 Point (3,5)

d = distance(pl, p2)

print( to _str(pl), to str(p2) )

class Point:
‘def init (self, x, y):

. self.x = x
self.y =y

methods

Edef distance (self, p):

: dx = self.x - p:x
dy = self.y - p.y
return (dx**2+dy**2)**0.5

Edef to str(self):
return (" + str(self.x) + \
"," + str(self.y) + ")"

pl Point (2, 4)
p2 Point (3,5)
d = pl.distance (p2)
print( pl.to str(), p2.to str() )

2110101 3ernssumauiieas w14 (14/09/67)

dauLane . AaLNian (..)
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AaULANE self 81989

class Point: Global frame Point class
hide attributes
( 1f ) P{jlﬂt function
def distance(self, p): init .
>S — t 1f
dx = self.x - p.x p1 _ i DEER L uL
p2 di function
Istance distance(self, p)
distance
d = pl.distance (p2) solf |o— Point instance
N x| 10
P
y [ 20

Foint instance
X |13

v | 16
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LA el T W AT UAULNA A NINIANNE

functions
a=1[1,2,3,4]
k = len(a)
print (a)
s = sum(a)
b = sorted(a)

# ﬂbﬁfﬂﬂ% module 3w

math.sin (1)
np.ndarray((2,3))

. ~

methods

2110101 3ernssumauiieas w14 (14/09/67)

nn A et OO

[1,2,3,4]

.sort ()
.append (99)

"aBc"
t.upper ()
t.lower ()
t.find("B")
set (a)
s.union([3,5])
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mae9 : BankAccount

e AR BankAccount wnuiieudisuims
— MRy (acc_no)
— fatieud (acc_name)
— gaaiuilaxiiu (balance)
e LIVIAaR&AIN5U BankAccount
— Wn : deposit( amount )
— nay : withdraw( amount )

al = BankAccount("1-034-567-892",
"y516l FaLsau", 500)

al.deposit (1000)

al.withdraw (150)
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nIaeiNy : BankAccount fusnisenn/aau

class BankAccount:

def init  (self, acc no, acc name, balance):
self.acc _no = acc_no
self.acc name = acc_name
self .balance = balance

def devosit(self, amount):
if amount > O0:
self .balance += amount

def withdraw(self, amount):

if 0 < amount <= self.balance:
self.balance -= amount

al = BankAccount("1-034-567-892", "dsél Sn3au", 500)
al.deposit (1000)

al.withdraw (150)

print(al.acc_no, al.balance)
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AsBanldiunasn1alunagLf ey

class BankAccount:
def deposit(self, amount):
def withdraw(self, amount):
def transfer to(self, acc, amount):
if 0 <= amount <= self.balance:

self .withdraw( amount )
acc.deposit( amount )

2110101 3ernssumauiieas w14 (14/09/67)
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AsranWIAafuN alumaIRLALNAY

class Rational:
def init (self, n, d):

self.n = n # numerator L@l 1o
self.d = d # denominator &IU

Rational( 1, 2 ) # AU 1/2
Rational( 4, 8 ) # thu 4/8

rl
r2
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AsranWIAafuN alumaIRLALNAY

class Rational:
def init (self, n, d):
g = Rational.gcd(n, d)
self.n = n//g # numerator LA 1t

self.d = d//g " # denominator &)U

famana. dawvian (. . .)

def gecd(a, b):
while b !'= 0:
a, b =Db,
return a

a%b

rl
r2

Rational( 1, 2 ) # AU 1/2
Rational( 4, 8 ) # AU 1/2
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MIALNY: ANUIUATINEY

class Rational:

def gcd(a, b): def to float(self):
while b '= 0: return self.n / self.d
a,b = b,a%b
return a def less than(self, x):

return self.to float() < x.to float()

def init (self, n, d):
g = Rational.gcd(n, d) def to str(self):
self.n = n//g # numerator LAM return str(self.n) + "/" + str(self.d)
self.d = d//g # denominator &MU

rl = Rational (20,40)
def mult (self, x): r2 = Rational (1, 4) ANNLA U
n = self.n * x.n r3 = rl.add(r2) r3 =rl + r2
d = self.d * x.d print(r3.to str()) print( str(r3) )
return Rational (n, d) r4d = rl.mult(r2) r4d = rl * r2
print(rd4.to _str()) print( r3 < r4 )
def add(self, x): print (r3.less_than(r4)) 1i1'lg ?

d = self.d * x.d
n = self.n * x.d + x.n * self.d
return Rational (n, d)
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WiiaafLAaaInaI&NYIn T T 1ud el

class Rational:

def init (self, n, d):
g = Rational.gcd(n, d)
self.nu = n//g # numerator LAM
self.de = d//g # denominator &

def add(self, x):

def mult(self, x):

def to float(self):

def less than(self, x):

def to str(self):

class Rational:
def init (self, n, d):
g = Rational.gcd(n, d)
self.nu = n//g # numerator @AW
self.de = d//g # denominator &1u

def add (self, x):

def mul (self, x):

def float (self):
def 1t (self, x):

def str (self):

r3 rl.add(r2)
print (to _str(r3), to float(r3) )
r4d = rl.mult(r2)

print( r3.less than(r4) )

r3 =rl + r2

print( str(r3), float(r3) )
rd = rl * r2

print( r3 < r4 )
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fRatNd: LYAINIT UWaLAITRIAINNS

class Item:
def init (self, name, price):

self.name = name
self .price = price

menu = [ Item("Fried rice", 45) ,
Item("Phat thai, 50),
Item("Congee", 30),

Item("Papaya salad", 40) ]
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fRatNd: LYAINIT UWaLAITRIAINNS

menu = [ Item("Fried rice", 45) , MINATDY JU6iNil
Item("Phat thai", 50), ol = Order () ;
Item("Congee", 30), ol.add (menu[0], 2);
Item("Papaya salad", 40) ] ol.add (menu[3], 1)

class Order:
def init (self):

self.order items = []
self.paid = False

def add(self, item, n):
for 1 in range(n):
self.order items.append(item)

def total (self):
s =0
for item in self.order items:
s += item.price
return s

2110101 3ernssumauiieas w14 (14/09/67)
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ALY FIa1KIT, ALY, TNEUTUTIN

class Item:
def init (self, name, price):
self .name = name
self.price = price

class Order:
def init (self):

self.order items = []
self.paid = False

def add(self, item, n):
for 1 in range(n):
self.order items.append(item)

def total (self) :
return sum([item.price
for item in self.order items])

m = [ Item("Fried rice", 45),
Item("Phat thai", 50),
Item("Congee", 30),
Item("Papaya salad", 40) ]

ol = Order ()

ol.add(m[0],2); ol.add(m[3],1)
02 = Order () ;

02.add (m[0],1); o2.add(m[1],2)
o3 = Order () ;

o3.add(m[1l],1); o3.add(m[2],1)

orders = [0l, 02, 03]
ol.paid = True
o2.paid = True

print (get total (orders))

def get total (orders):

return sum( [od.total() for od in orders if od.paid] )
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str

class Item:

self.name = name
self .price = price

x1l = Item("Congee", 30)
x2 = Item("Phat thai",
print (x1 < x2)
print (x2 < x1)

print (x1, x2)

def init (self, name, price):

def 1t (self, rhs): "ﬂ:_ﬁ';ﬂ“zf';ﬂw
return self.price < rhs.price

def str (self):
return self.name + ":" + str(self.price)

50)
# True
# False

print(str(xl), str(x2)) # Congee:30 Phat thai:50

# print Jg'ld3an str W
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sort 1o 1t  Tunsavdsuaya

menu = [ Item("Fried rice", 45) ,
Item("Phat thai'", 50),
Item("Congee", 30),

Item("Papaya salad", 40) ]
menu.sort ()

for item in menu:
print (item)

Congee: 30
Papaya salad:40
Fried rice:45
Phat thai:50
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aaey : Date

class Date:
def 1init (self, d, m, y):

self.d =d
self.m = m
self.y = y

def 1t (self, rhs):
dl = (self.y, self.m, self.d)
d2 = (rhs.y, rhs.m, rhs.d)
return dl < d2

def str (self):
return str(self.d) + "/" + \
str(self.m) + "/" + \

str (self.y)

dl = Date (20, 1, 1990)
d2 = Date(9, 12, 1990)
print( dl1 < d2 ) True

print( d1, d2 ) 20/1/1990 9/12/1990
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